

           
      Prof. Been

Property

Property is a set of relationships, ownership can vary depending on the other claimants
·This case in an example of a C-level exam answer

-It lists three other cases and the holdings for them, but does not say how they relate to the case at hand

-It also frames the question in a circular definition

-It also avoids or assumes all of the public policy problems at the heart of the issue

-Plus, it writes off a discussion of the merits

Acquisition by Capture
Pierson v. Post (pg. 19)
· Post was hunting a fox with his dogs and hounds, when Pierson who was also hunting, caught, killed, and carried off the fox.

· Post filed suit against Pierson for an action of trespass on the case (indirect injury to one’s property) and won.

1) The court holds that mere pursuit of a wild animal, without other circumstances or actions, does not equal property

a. The rationale is the promotion of certainty

b. The impact of mortal wounding, i.e. creating property, is dicta

c. The noxiousness of the animal, the means of capture, and whether it is sport versus industry may impact how we handle the resource

2) Majority may not care about the costs of pursuit, because the more it costs the more we need certainty, since more quarrels would arise
a. Certainty allows people to invest, engage in desired behavior, and trade.

b. Dissent would say that more people have invested, the more you want to protect the investment and with certainty you sacrifice fairness/flexibility.
c. Dissent could argue against the precedent because of changed circumstances or that the precedent is incoherent (standards)
3) Hypothetical - T1 captures a wild animal on land belonging to O. T1 trespasses onto T2’s land when carrying it home.
a. Between T1 and O, you would likely side with O
b. Between T1 and T2, not awarding property rights to T1 would set up a string of stealing from a thief and a severe lack of certainty

4) Factors to consider when setting up a property rule

a. Certainty (majority)

b. Investment (dissent)

c. Fairness

d. Legitimacy of the courts and laws

e. Concerns of other parties

f. Costs of the allocation scheme
g. Promotion of undesirable behavior
5) Alternative Property Rules
a. Sharing rule – dividing resource based on a criteria

b. Physical possession – giving resource to person who possessed it

c. Needs – giving resource to person who needs it most

d. Joint custody – sharing time with the resource

e. Maximizing social utility
f. No one gets it – giving resource to a third party

g. Might makes right

h. Ownership of the land or membership in the community

i. Kind or degree of effort

j. Whiny child theory – giving resource to person who complains the loudest

k. Salvage fee
Ghen v. Rich (pg. 26)
· The custom was that fin-back whales, when killed, sink to the bottom, and then float to the surface within a few days, and the person who finds them on the beach then sends word to the fishermen, who comes and removes the blubber, and pays a finder’s fee.

· Plaintiff killed the whale with a bomb-lance and it later was found stranded on a beach. The finder (Ellis) put it up for sale at auction, who removed the blubber and oil. Neither Ellis or the buyer knew the whale was killed by the plaintiff.

· Plaintiff filed suit to recover the value of a fin-back whale.

1) The court chose to rely on the custom and award possession to the fisherman who mortally wounded the whale
a. Property law is very concerned with common person’s expectations

2) Pro-Custom

a. It is appropriate since this only effects a small number of people

b. It provides notice, since it has a longstanding history

c. It has been relied on in other courts and thus, there is precedent

d. Without relying on custom, there would be a loss in productivity, since people could not “reap what they sew”

e. Without relying on custom, there would be a lack of fairness since the person who invested in capture did not end up with the whale

3) Anti-Custom

a. When custom varies, there is a lack of certainty/notice

b. Custom could be based on the self-interest of a few number of individuals

c. The decision may impact more than a small number of people

d. Need to look to the incentives provided by a custom to determine its value

Keeble v. Hickeringill (pg. 31)
· Keeble lawfully possessed land, where he maintained a decoy pond and procured divers decoy ducks.

· Hickeringill discharged guns with the intent of driving away the wildfowl and was successful at doing so.

· After a verdict for the plaintiff and an award of 20L, the defendant appealed.

1) The court holds that you cannot do a violent or malicious act to prevent a man from benefiting from his property, occupation, profession, or way of livelihood
a. The court relied on the theory of malicious interference with trade, since he used his skill for profit, and constructive possession, which regards landowners as the prior possessors of any animals on their land, until the animals take off.

b. If the defendant maintained a competing business, no action would lie.

c. Term possession is just a conclusion that depends on policy goals

2) Keeble vs. Pierson

a. Facts are different

i. It was the plaintiff’s land

ii. It resulted in waste

b. The policies are also different

i. The court was most concerned with getting the ducks to market, as opposed to just getting the fox killed

c. The legal issue may also be different

i. The question here is whether there was interference with the right to property and not over ownership
Popov v. Hayashi (handout)
· The ball landed in the upper portion of Popov’s softball glove. People descended on him for the purpose of taking away the ball.

· Mr. Hayashi, doing nothing wrong, found the loose ball and picked it up.

· Mr. Popov made statements that he had some control over the ball and intended to keep

· We are unable to know if Popov would have retained the ball if not interfered with.

1) Where an actor undertakes significant but incomplete steps to achieve possession of a piece of abandoned personal property and the failure to continue the effort is interrupted by the unlawful acts of others, the actor has a legally cognizable pre-possessory interest in the property.
a. Both the plaintiff and defendant have an equal and undivided interest in the ball, based on valid claims of equal strength.
b. The interest constitutes a qualified right to possession which can support a cause of action for conversion.
c. The court seems to reintroduce uncertainty, by not applying the mortal wounding standard and rewarding mere pursuit.
d. If Pierson was applied, the court would have encouraged mob incentives

Rule of Capture/Rule of First Possession
1) Pro-Capture

a. Certainty

b. Notice to others

c. Productivity

d. Lower administrative costs

e. Why not? It is no worse than any other system

f. Fair because it gives equal opportunity

g. Encourages trade
2) Anti-Capture

a. May reward out of proportion to labor

b. Could rely on information or contacts that are not legitimate

c. Rewards bigness and the people who already have

d. Encourages over-consumption of resources

e. Competing expectations from competition

f. Wasted investment, if everyone goes after it to try and get it first
g. Wasted capture technology

h. Wasted resource itself

i. Malleability of the term/difficulties in establishing certainty
3) Capture in other areas

a. Cyber-squatting

b. Fugitive Resources, i.e. oil, gas, water
i. Since less abundant, Western US uses capture/firs appropriation
Capture/Property Rights Theory
1) Reasons for moving from a rule of capture to property rights
a. Labor theory (Locke)

i. Property is an extension of one’s labor

b. Personhood theory (Radin)

i.  By virtue of a special external connection with property, people should be accorded broad liberty with respect to control over it

c. Possession Theory
i. As opposed to labor or consent, property is defined through acts of possession

ii. The problem is that there may not always be a clear act

d. Utilitarian Theories

i. Property sets up a system of power
ii. Property rewards productivity through its tradability
iii. Property preserves a framework between individuals and the rest of society
iv. Property helps create a more efficient system (Demsetz)

2) Toward a Theory of Property Rights – Harold Demsetz (pg. 41-48)

a. Property rights develop to internalize externalities when the gains of internalization become larger than the cost of internalization.

i. An externality is imposing a cost on someone else and not having to take that into account 

ii. Internalizing enable the effects to bear on all interacting persons

iii. There needs to be a shock to the system

iv. Based on a Kaldor-Hicks efficiency, paying off others not required

b. An owner of property rights possesses the consent of fellow men to act in particular ways, including the right to benefit or harm oneself or others

c. The problem with the tragedy of the commons is that the value of the future resource, i.e. fish, is not being taken into account

i. This makes the issue about efficiency and not fairness

d. Property rights primarily account for inefficiencies of transactions costs
i. Accounting for people

ii. Memorializing the agreement

iii. Monitoring people

iv. Punishing people

v. Up-front costs

vi. Free-riders

vii. Holdouts

viii. Legal bars to the transaction
ix. Development of a prisoner’s dilemma

1. Even though cooperation is best for the community,  the impetus of the individuals seems to override

e. Property rights allow the owner to look forward to the future benefits knowing that he will receive that benefit by husbanding the resource

f. Types of ownership

i. Communal ownership

1. A right which can be exercised by all community members

2. Higher negotiating costs

ii. Private ownership

1. Community recognizes the right of the owner to exclude others from exercising the owner’s private rights

2. Reduced negotiating costs

iii. State ownership

1. State may exclude anyone from the use of a right as long as the state follows accepted political procedures for determining who may not use state-owned property

g. Types of systems

i. Communal System

1. Community owns property and anyone in the community can take property

ii. Open Access System

1. Anyone who has access to the pond can take the fish

h. Problem of the anti-commons

i. Because we have over propertized something, the resource is not being used enough
i. Criticisms

i. Private property imposes societal costs through legal/police system 

ii. Even if the value of the resource decreases or the value of the externality increases, de-privatization is unlikely because of vocal losers who will externalize the cost of maintaining private property, lowered transaction costs, and resource scarcity.

1. Counter-examples are airspace and slavery.

iii. He’s really comparing communal property with a rule of capture and not pure commercial property

iv. If we can foresee people coming together to form a private property system, why can’t we solve the collective action problems of the commons

v. Some are willing to suffer for the gain of the others (risk taking)

vi. There may be other motivations, i.e. personhood, or other values, i.e. distribution, that are not included in the rational actor

3) Applying Demsetz to the fisheries

a. Despite his theory, private property system developed in Australia, not RI

b. Explanations

i. Community cohesiveness

ii. Initial distribution of wealth

iii. Veto power and the role of the individual

iv. The underlying legal structure

v. Expectations and historical precedent

4) Alternatives to IFQ’s (individual fishing quotas), aka property rights
a. Shorten the season/Lower the catch allowed

b. Limit the technology allowed

c. Base quotas on investment and other resources

d. Entitled to a “reasonable catch” and other will be subject to tort actions

e. Have the economic winners pay off the economic losers

i. It would be an application of Kaldor-Hicks efficiency

f. Unitization rule, i.e. government forces interests to act as one person

i. Used in the oil and gas setting

g. Limit fishing within a certain number of years (Conservation districts)

h. Liability system, with paying a tax on each number of fish caught

i. Money is then shared among the losers or used to support fish repopulation
Alliance Against IFQs v. Brown (handout)
· The Magnuson Act made findings of having certain fish populations pushed to the brink of survival and in response, the Secretary of Commerce promulgated regulations saying that any boat that fishes commercially for the regulated fish in the regulated area must have an individual quota share (IFQ) permit on board.

· The NMFS assigns to each owner or lessee of a vessel, which made legal landings of halibut or sablefish during 1988, 1989, or 1990, a quota share and these can be sold, leased, or transferred.

1) Although the plan sacrificed the interest of non-owning crew members to boat owners and lessees, the Secretary’s reason for doing so was consistent with statutory standard, sacrificing the interests of some for the benefit of the fishery as a whole.

a. Tension between goals, i.e. over-fishing, necessarily requires that each goal be sacrificed to some extent to meet others.

Manipulating the Rule of “First” Possession
· Acquisition by Find
Armory v. Delamire (pg. 108) – Finder 1 vs. Finder 2
· The plaintiff, a chimney sweeper’s boy, found a jewel and carried it to the defendant’s shop. An apprentice, who under pretence of weighing it, took out the stones.

· The master offered the boy the money, who refused to take it, whereupon the apprentice delivered him back the socket without the stones and sued for trover.

1) A finder of property will be able him to keep it against all but the rightful owner (original owner).
a. Claimant still needs to prove that he was the first finder

b. A different rule would introduce chaos because it would be hard for the first finder to prove ownership

c. If physical possession were the key, it could encourage people to try and gain possession of questionably lost property

d. Generally, even a thief prior possessor will be protected because we don’t want people to have to show proof or encourage more thefts

i. There is an exception for the “honest claimant”
e. If the chimney sweep had lost it, and the apprentice had found it, the apprentice, as the finder, would have a claim over the chimney sweep, since he is not the rightful owner

f. The potential risk of recovery by the owner can be allocated to either the jeweler (drag on the economy) or the true owner (poor investment in tech.)

2) Questions to ask yourself

a. What is the least administratively intensive?

b. What is most likely to get it back to the true owner?

c. What is most likely not to promote lying and other bad behavior?

d. What rewards labor?

Hannah v. Peel (pg. 111) - Owner of the property vs. Finder
· Gwernhaylod House was conveyed to Major Peel, who from 1938 to 1940 never occupied the house.

· During a military requisition, lance-corporal Hannah was using a bedroom as sickbay, when he adjusted a curtain, grabbed what he thought to be plaster, and dropped it out. He later found it to be a brooch, covered with cobwebs and dirt.

· He handed it over to the police and the owner not being found, they handed it to the defendant, who sold it for 66L.

1) No circumstances take it out of the general rule of that the finder of a lost article is entitled to it as against all persons, except the real owner

2) Factors to consider

a. Expectations

i. When you buy land, you expect you are getting everything inside it

b. Maybe possession requires occupancy
c. Not rewarding the finder would limit him investing labor into finding

d. Keeping it with the property owner may help it get back to the true owner

e. A rule going against the owner’s expectations could encourage lying

McAvoy v. Medina (pg. 118) – Owner of the premises vs. Finder of Mislaid
· Plaintiff was a customer in the defendant’s barber shop and saw and took up a pocket-book which was on a table.

· The defendant took it, counted the money, and the plaintiff told him to keep it, if the owner came in, and he subsequently made three claims for it

1) A finder of property acquires no rights of mislaid property.

a. Been is reluctant to make the lost/mislaid/abandoned distinctions

b. There is still the incentive to try and unite the property with its true owner

2) With abandoned property, the rule is often determined based on trying to punish the behavior that led to abandonment

3) The law of finders has been applied to coins and shipwrecks, while money found is a airplane wing was treated as mislaid

a. Maine addresses this by requiring the finder to pay for advertising and appraising for found items worth more than $10
b. In Haslem v. Locke, dealing with manure raked into piles, the court held that a finder who greatly increases the value comparatively worthless property does not lose his rights if he leaves it for a reasonable time 

Johnson v. McIntosh (pg. 3)
· The plaintiff claims the land in two grants from the chiefs of Indian tribes in 1773 and 1775. There is no mention of physical occupancy or possession. The mention sees the chain of title going from tribe to British settles and Johnson is the son of one of the grantees.

· The defendant claims the land under a later grant from the United States. It was the colony of Virginia that claims to have taken title from England and then, when becoming a state, Virginia ceded title to the United States.
1) The Indian inhabitants are to be considered merely as occupants, to be protected, while in peace, in the possession of their lands, but to be deemed incapable of transferring absolute title to others, including other tribes.

a. It is not just an issue of first in time, because it is unclear whether the US recognizes the power of the Native Americans to transfer title

b. Johnson loses because he entered into an illegal, unenforceable contact

2) The US, the predecessor in interest, could have kicked Indians off, as a conqueror without offering any compensation

a. It does not mean that McIntosh, as the buyer from a conquering sovereign, can also kick them off, because Indians have a right to the land until then

i. McIntosh only acquires the non-sovereign rights of the US gov’t

b. It is analogous to a rent-controlled apartment situation, McIntosh is like the owner/Native Americans are like the tenant and has the reversion if the Native Americans abandon the land or the US takes the land

c. Against the world, the US government has the right to the land subject to the possessory rights of the Native Americans

3) Alternative rules
a. First in time

i. Certainty

ii. Encourage investments

iii. Labor theory

b. Indians can deal only with the US government

c. Shared sovereignty

d. Balancing test based on usage

4) Institutional competence

a. The Supreme Court is reluctant to tell the executive what to do, whether it be provide compensation to Indians or how to operate during war time

b. Deference was given to individual rights even during war (Marshall in FL) and deference was also given to revolutionary causes

i. Ex. Cuba could go both ways.

ii. Ex. In Delgamuukw v. British Columbia the court held that there were certain kinds of objectives, i.e. protecting environment, infrastructure building that can justify the infringement of aboriginal title, although a negotiated settlement was preferred.

iii. Ex. Indians won a suit, requiring British Columbia to consult with them over land use anywhere on their traditional homelands

iv. Ex. It was the attachment of property in land to a marketplace and the accumulation of its value in a society with institutionalized ways of recognizing abstract wealth that committed the English in New England to an expanding economy

Acquisition by Creation
International News Service v. Associated Press (pg. 60)
· The AP filed suit against International News Service (INS) alleging that INS was pirating their news by bribing newspaper employees, inducing AP members to violate its by-laws, and by copying news from bulletin boards.

· The parties are competitors in the gathering and distribution of news and its publication for profit in newspapers through the U.S.

1) It is a debate between fairness and efficiency

a. Based on labor/fairness, one person should not benefit from the work without doing anything

i. But, creative work is cumulative and the public interest is in having less restrictions/greater efficiency
2) Land is an exhaustible resource/rival, but intellectual property is inexhaustible/non-rival

a. Something is a public good only if it is non-rival and non-excludable, i.e. national security, which news may not be
b. When a good is rival, you have the sharpest conflict with Locke’s labor theory

c. For labor theory you need as much and as good, so issue is are these exhaustible or inexhaustible resources
i. Must consider the value of the resource versus the value of labor

3) Between the parties, it must be regarded as quasi property, irrespective of the rights of either against the public.

a. The process amounts to an unauthorized interference with the normal operation of complainant’s legitimate business precisely at the point where the profit is to be reaped.

4) Were the courts the proper venue? (Institutional competency)
a. Courts lack administrative machinery to refer the problem

b. All the parties were before court

c. Expertise

d. Congress occupies this field
e. Courts produce dis-uniformity

f. Courts have limited remedies.  
g. Judges’ lack of accountability

h. Judges are less diverse and deliberative

1. Not necessarily, they may be closer to the problem

2. Congressional hearings may be much more controlled

5) Vs. Cheney Brothers v. Doris Silk Corp. (pg. 64) – Silk scarf copying
a. Injunction was not granted even though there was price undercutting and diminished profits

i. Court felt that acting would grant a monopoly and only Congress had this power

ii. In the absence of some recognized right at common law or under the statutes, a man’s property is limited to chattels which embody his intentions and others may imitate these at their pleasure.

b. Reasons

i. Hand limited AP because he thought the decision was wrong

ii. Maybe news is just more valuable to society then scarves and we are willing to accept fairness discrepancies

iii. Maybe there is a difference in the resources invested into getting news than creating scarves

iv. Maybe there is more opportunity for branding and enough people will pay enough money for the real good

v. The value to the original wasn’t lost in having scarf copies, since there were different price points, and there is a value to society gained in lower prices.
1. Not assigning the entitlement could have cost society the production of recent news
vi. In Smith v. Chanel, Inc (1968), the court held that a perfume company could claim in advertisements that its product was the equivalent of the more expensive Chanel No. 5., since imitation is the life blood of competition and the public benefit might be lost if that behavior was not allowed.

6) The absence of property rights can dampen production, but recognition of them can create costly monopoly power.

a. The idea behind patents, copyrights, and trademarks is to grant a limited monopoly over the protected material, promote creativity and advance competition.

b. Copyrights especially are a form of dead-hand control

Virtual Works, Inc. v. Volkswagen of America, Inc (pg. 69) – “Cyber-squatting”

1) The evidence established that at the time Virtual Works proposed to sell vw.net, it was motivated by a bad faith intent to profit and this is the type of misconduct that Congress sought to discourage in the ACPA

a. The options were either protecting labor theory/personality (VW) or first in time (Virtual)

b. The right of publicity seems to be rooted the right of privacy. (Posner)

c. The right of publicity developed for the same reasons that property rights generally are thought to develop, technological advance and social change generated new demands, new scarcity, and new opportunities.
d. Maybe the courts and legislature both should have left the cyber-squatting issue to the markets

Moore v. Regents of the University of California (pg. 79)
· John Moore sought treatment for hairy-cell leukemia at the Medical Center of UCLA.

· The hospital conducted tests, took blood and tissue samples, and removed his spleen, but did not tell him that his cells were unique and that access to them was of great scientific and commercial value.

· Moore was eventually told that his bodily substances were going to be used for research, and the defendant eventually established a cell line, received a patent for it, and entered into various commercial agreements for hundreds of thousands of dollars.

· The court ruled that the complaint states a cause of action for breach of the physician’s disclosure obligations, but not for conversion.
1) Court argues that it is not a property law matter and can be dealt adequately through tort law via informed consent, which the physicians failed to do
a. Property must include a minimum bundle of rights and once you get down to a few rights, it is too administratively cumbersome and will lead to inefficiencies, i.e. the anti-commons, transaction costs, hold out problems.
i. Elements include

1. Possess

2. Use

3. Exclude

4. Dispose of by sale or by gift.

b. To establish a conversion, a plaintiff must establish an actual interference with his ownership or right of possession.

c. The subject matters of Regent’s patent cannot be Moore’s property, since it is factually and legally distinct from the cells taken from Moore’s body. (Labor argument)
d. California statutory law limits any continuing interest, citing that removed organs and tissue should be disposed of.
e. The lack of knowledge of certain facts by the court, i.e. the research done by Golding, may support of a lack of institutional competence argument

2) The number of rights has been limited, but there is still a right that is being allowed by the doctor (“Look like, smell like, taste like property” test)

a. Maybe it is not a certain number of rights, but rather which rights
b. An analogy would be a piece of charred wood from an apartment fire that someone turns that into valuable art

3) Factors to consider

a. Efficiency arguments

i. Demsetz would argue that as a resource becomes more valuable it should be propertized and there should be an organ market

ii. Using a market system to obtain organs doesn’t dictate exclusive reliance on the same system to distribute them, especially if the supply is abundant

b. Autonomy arguments

c. Expectation arguments

i. Compensation could decrease altruistic giving

d. Personhood arguments

e. Distributional concerns

f. Anti-commons problem

i. Been – Under-use of resource
g. Transition/Reliance problems

i. Problem when changing from one rule to another

ii. Will always favor maintaining the status quo

h. Also have to worry about the unintended consequences/public policy impact of any regime you create

i. Raises questions about paternalism

i. When, if ever, should we make a resource unavailable

4) Remedies – Types of Entitlements (Melamed & Calabresi)
a. Property rule protection

i. The owner of the entitlement has complete and total control over whether he sells or doesn’t sell, except if the state requests it for itself

ii. Consequently, the owner is entitled to an injunction

iii. Don’t want the government setting the price

b. Liability rule protection

i. An objective value is placed on the property, either by the state, a court, a jury, etc

ii. Someone can interfere with the property right and the owner is entitled to the aforementioned damages  

iii. One person should not stand in the way of social progress
The Right to Exclude
· The rights to permit (include) and deny (exclude) use or possession of the owned property by other people are the necessary and sufficient conditions of transferability.

Jacque v. Steenberg Homes, Inc (pg. 100)
· Despite protests, Steenberg plowed a path through the Jacque’s snow-covered field.

1) Right to exclude others from his or her land is one of the most essential sticks in the bundle of rights that are commonly characterized as property.

a. Society has an interest in punishing and deterring intentional trespassers beyond that of protecting the interests of the individual landowner.

State v. Shack (pg. 101)
· Defendants entered upon private property to aid migrant farm workers employed and housed there and refused to depart.

1) Under state law, the ownership of real property does not include the right to bar access to governmental services available to migrant works and hence there was no trespass.

a. This is a rare circumstance where the right to exclude is limited, other include rent controls, limitations on eviction, civil rights legislation, and beach access
b. Necessity, private or public, may justify entry upon the lands of another

Adverse Possession
1) Adverse possession behaves as a defense to trespass and a limitation on the right to exclude

2) Elements of Adverse Possession (Vary among different states, i.e. Western states require tax payments as a result of railroad expansion)

a. Actual possession

i. Purpose is to trigger the tolling of the statute of limitations

b. Open and notorious possession

i. Serves the same purpose of triggering the statute of limitations
ii. Inquiry merges with the question of actual possession, although what will satisfy the requirement depends on the type of the land

iii. Usually, if he is using it as a regular community member would, it satisfies the open and notorious requirement

1. Ex. Howard v. Kunto – “Summer vacation home”
2. Ex. Marengo Cave Co. v. Ross – “Underground cave”

a. Ad coelum – Own from the sky to the depth

c. Adverse possession

i. Notice requirement, ie. cant have gotten there with O’s permission

ii. Addresses landlord/tenant issues

d. Under claim of right

i. Requirement to believe (state of mind) that the land is yours
ii. It is different from adversity, in that some courts require state of mind.

iii. Majority says no state of mind is required (CT rule), and it is objective, the claim of right requirement will be subsumed by the other factors. 
iv. The problem is that some courts will still look at good (mistake) or bad faith (aggressive trespasser) intent.

e. Exclusive

i. Based in elements of notice and productivity

ii. The adverse possessor and the true owner cannot be sharing possession, i.e. there cannot be a reversionary interest.

iii. Standard is going to be the norm of the community and generally, it will not be allowed in tandem with other

1. Exception with beachfront property, the entire community can try and possess together (prescriptive easement)

f. Continuous

i. Measured by what the normal owner would do

g. All of the elements existed for the period of the statute of limitations, plus any disability period

i. A disability is immaterial unless it existed at the time when the cause of action accrued.

1. Ex. Age of minority, unsound mind, prison

3) If AP asserts successful adverse possession, O loses title and it reverts back to the AP’s initial entry onto the land and O is not entitled to any damages

a. AP would owe back taxes since he steps back into the shoes of the owner

b. AP is responsible environmental contamination

c. Thus, in some instances, you will get people trying to disprove adverse possession.

d. Owner can sometimes bring an action to quiet title

4) Ways adverse possession arises

a. Color of title (Howard v. Kunto)

i. Color of title refers to a claim founded on a written instrument, i.e. deed or will, or a judgment or decree that is for some reason defective and invalid.

ii. More liberal requirements and shorter statute of limitations

iii. The claim of right is easily satisfied by the mistaken document. 

iv. The only caveat would be if you knew the paper was invalid, but this could be considered as not acting under color of title.

v. Actual possession under color of title of only a part of the land covered by the defective writing is constructive possession of all that the writing describes.

b. Mistaken boundary cases (Mannillo v. Gorski)
i. The mistake can come from an erroneous survey or deed

ii. There can be two states of mind: Either I think I own it, but if I do not I intend to take it anyway or I think I own it, but of course I will not take it

c. Aggressive trespasser

i. There is no doubt about the fact that I do not own the land

ii. Some courts say they will never reward bad faith taking, thus creating a good faith requirement of adverse possession.

iii. Some courts only reward bad faith taking (the Maine rule). 

1. One justification is that only bad faith with put the true owner on notice, although this is weaker.

2. Really, it punishes the sleepy owner and rewards productivity.

5) Reasons for adverse possession
a. “Tax” on land ownership, requiring owners to check land once every 15 years in order to guarantee ownership rights

i. Want people to be able to rest easy with land

ii. It minimizes the risk of error for the courts

iii. There are also the interests of subsequent purchasers and trying to minimize the costs of the state

iv. There are also the interests of the title insurers

b. Productivity

i. Antiquated, since land has been settled

ii. Runs in the face of autonomy

c. Personality argument

i. Roots go around your possession, but true owner may have the same roots

d. Reliance

i. The adverse possessor, banks, and third-party creditors

e. Desire to enhance the marketability of the land

6) Under the common law rules, adverse possession does not run against the government. 

a. Courts often say that the state owns it s land in trust for all the people, and the state should not lose the land because of the negligence of a few state officers or employees.

b. A few states do permit it and others permit it only if possession continues for a period much longer than that applied in the case of private lands

7) Adverse possession under the rational actor model (Goode article)
a. The whole impetus behind adverse possession is that people are acting irrationally, not owning land but building on it anway.

b. Adverse possessor’s loss may not be recognized by the economic model

a. AP’s use and possession of the land signals that the marginal utility may be greater to the AP, then the true owner
Van Valkenburgh v. Lutz (pg. 129)
· In 1912, Mary and William Lutz bought two wooded lots at auction in Yonkers and cleared a triangular tract which they did not own as a short-cut.

· In 1928, after losing his job, Lutz stayed home tending a garden on the triangular property.

· In 1937, the Van Valkenburghs built there own house on adjacent property, but in 1946, bad blood developed between the parties. 

· After a lawsuit, Lutz agreed to remove his sheds, junk, and garden, but he had an easement, the right of way to use the property. The Van Valkenburghs then invited legal action by erecting a fence to prevent travel.

· Lutz then changes his tune, with new council, and says he actually did own the land via adverse possession.

1) The essential elements of proof of actual possession are that the premises are protected by a substantial enclosure or are usually cultivated and improved.

a. Majority says he’s not farming the entire property, so they don’t count it as actual occupation

b. Sections of the law that address possession under color of title say farming a portion of the land gives the title to all of it, however it is left out of the adverse possession section

c. An argument is that Lutz should be entitled to the portion he did cultivate, element of elitism/class bias in the court’s notion
2) Court seems to provide no way for Lutz to win

a. He can’t win by saying he believed in good faith it was his, but was mistaken.

b. With the shack, he knew he didn’t own the land, but he did not win on that point either.

Mannillo v. Gorski (pg. 147)
· The statute read that “every person having any right or title of entry into real estate shall make such entry within 20 years next after the accrual of such right or title of entry, or be barred there from thereafter.”

· Defendants entered possession of Lot 1007 and plaintiffs are the owners of the adjacent lot, Lot 1008.

· Defendant later raised the house and added steps, encroaching on the plaintiff’s property by 15 inches.

1) No presumption of knowledge arises from a minor encroachment along a common boundary.
a. Only where the true owner has actual knowledge that you are over the line can the adverse possessor satisfy the open and notorious requirement

b. It serves to undermine the good/bad faith claim of right elements, rewarding the possessor who entered with a premeditated and pre-designed hostility and disfavors the honest and mistaken entrant

i. Court claims to use an objective standard, but uses subjective acts

2) The court’s actual notice requirement serves as establishing a liability rule under which we may force the true owner to sell the land to the adverse possessor, or in some cases give the landowner the option to buy the improvement.
a. Problems

i. It undermines the objective of punishing the “sleepy owner”

i. It undermines the goal of protecting people who rely upon the appearance that the adverse possessor owned the land

Tacking
1) Generally, we will only allow tacking, starting the tolling of the statute of limitation from a previous adverse possessor or adding adversely possessed land into a subsequent deed sale, if the parties are in privity of estate, i.e. they were in some relationship, such as selling the land
a. Justification is that we want land to be marketable no matter what

b. When the AP possesses, you can only adverse possess what the true owner has.
i. Ex. Mortgage
ii. Ex. When future possessory interest kicks in, a new statute of limitations begins to toll
O’Keefe v. Snyder (pg. 163)
· O’Keefe alleged she was the owner of the paintings when they were stolen from a NY art gallery owned by her late husband, Alfred Stieglitz. Snyder asserted he was a purchaser for value of the paintings, he had title by adverse possession, and O’Keefe’s action was bared by the expiration of the 6-year period of limitations.

1) The trial court should consider 1) whether O’Keefe used due diligence to recover the paintings at the time of the alleged theft and thereafter 2) whether at the time of the alleged theft there was an effective method, other than talking to her colleagues 3) whether registering paintings with the ADAA or any other organization would put a reasonably prudent purchaser of art on constructive notice that someone other than the possessor was the true mother

a. The introduction of equitable considerations through the discovery rule provides a more satisfactory response than the doctrine of adverse possession.

b. The discovery rule shifts the emphasis from the conduct of the possessor the conduct of the owner.

2) To avoid harsh results from the mechanical application of the statute of limitation, the court have developed a concept known as the discovery rule.

a. The discovery rule provides that a cause of action will not accrue until the injured party discovers or by exercise of reasonable diligence or intelligence should have discovered facts which form the basis of a cause of action.
The Estate System (MAKE A CHART)
1) Background

a. The estate system is a method of classifying interests in land in terms of possession and time, like time shares
b. The estates system developed out of the feudal system, where the interests of the various layers varied in terms of how long the interest would last

c. The estates system applies to only real property, land and other things such as buildings that are more or less permanently attached to the land

d. Historical battles

i. Property owner’s desire to perpetuate their dynast vs. others’ interest in distributing wealth more broadly

ii. States’ desire to tax vs. property owners’ desire to escape taxation

2) Words of Purchase vs. Words of Limitation

a. Words of purchase define who the grantee is through transfer by conveyance or will, not inheritance

i. Ex. “To A”
b. Words of limitation define the type of interest given to the grantee

i. Ex. “And his heirs”
ii. Prevents A from having to get permission from all of his heirs apparent to sell his property and allowed greater tax collection
3) Possessory vs. Non-possessory Interests
a. Only interest that are now possessory or are capable of becoming possessory in the future are estates

b. Non-possessory interests are right regarding the use of the land

i. Ex. Easements (Van Valkenburg)

ii. Ex. Covenants

4) Present Possessory v. Future Interests

a. Divided in terms of immediacy

b. A future interest is a present estate that is not yet possessory

i. Ex. Renter has present possessory interest

ii. Ex. Landlord has a future interest

c. A future interest is still considered property and is subject to taxation and awarded compensation for takings

5) Present Possessory Interests (Subdivided by duration)
a. Fee Simple

i. Potentially infinite in duration, because it is generally inheritable by any of the owner’s heirs even if the owner dies intestate
ii. The only way the estate can end is if O dies intestate without any heirs, in which case the land escheats to the state
iii. Under modern statutes of descent, the preferred order of heirs is: first issue, then parents, then collaterals.

iv. No one is considered an heir to the living, they are heir apparents
b. Life estate (O to A for life)
i. Second most durable and ends at the death of the present possessor

ii. It must be paired with another interest, as a result of the principle of conservation of estates

1. The sub-estates must add up to the same duration as the original estate

iii. When a fee simple absolute is subdivided, the duration of the sub-estates must add up to infinity.

1. The life estate must be paired with a future interest, vested in either the O or subsequent possessors
2. If the O says nothing, it is assumed that the O retains

6) Freehold vs. Non-Freehold Present Interests
a. Types of freehold estates

i. Fee simple

ii. Life estate

b. 
i. 
1. 
2. 
ii. 
1. 
2. 
3. 
4. 
iii. 
1. 
2. 
3. 
4. 
7) Fee Simple Absolute (To A and his heirs)

a. Arose because tenants wanted to have land pass to their family after death

b. Creation

i. At common law, any language in a grant other then “to A his heirs” was insufficient to create a fee simple absolute, because without those words no estate of general inheritance was created

ii. At common law, when devising via will or testament, a clear expression of intent to give a fee simple would suffice

iii. Today, “to A” is sufficient to create a fee simple

c. Characteristics

i. Represents the ultimate in ownership, since O dos not share ownership, in terms of time, with any other parties and has the right to possess the property for the longest possible during

ii. Potentially infinite in duration and ends only if O dies intestate without any heirs, in which case the land escheats to the state

iii. Generally inheritable, so if the owner dies intestate, the property will generally pass to his lineal heirs (descendents) and if not, then his collateral heirs (blood relatives)

iv. Limitations on general inheritability will be struck down

v. Freely transferable or marketable and the O can transfer to anyone, subject to government regulations

vi. It is indefeasible in that it cannot be conditioned

vii. There are no future interests, so “A’s heirs” have no interest
8) Life Estate (To A for life/To A for the life of B/To A and upon A’s death to B)

a. Types
i. Simple

1. Measured by the life of the donee
ii. Per autrie Vie

1. Measure by the life on another person

b. Creation

i. Express words

ii. Legal construction

1. At common law, “To A” presumed a life estate

2. Today the law presumes a fee simple absolute

iii. Operation of law

1. At common law, a man acquired a life estate in all his wife’s property (jure uxoris) and it lasted until divorce, death, or the birth of a child, which extended it for the length of his own life (tenancy by the courtesy)
c. Characteristics

i. It is transferable, but a live tenant can only convey what he owns

1. Ex. If O → A for life, then to B; and A transfers it to C – C gets a life estate just for the life of A

ii. It is defeasible and can be subject to conditions

1. Ex. O → A for life, until A remarries

iii. A simple life estate provides no future interests, since A’s estate ends upon his death

iv. A life estate per autre vie is devisable if A predeceases B, and then the life estate passes to A’s heirs
v. A life estate is always paired with a future interest, as a means of “conserving” a fee simple

1. Ex. O → A for life (reversion)

a. Retained by the grantor and reverts back to O upon A’s death

2. Ex. O → A for life, then to A’s heirs (remainder)

a. Create in a third person or category of persons

b. A’s heirs will have a present possessory interest in fee simple upon A’s death

9) Present interest (future interest)

a. Fee simple absolute (none)

b. Life estate (reversion or remainder or executory interest)

c. Fee tail (reversion or remainder)

d. Fee simple determinable (possibility of reverter)

e. Fee simple subject to a condition subsequent (right of re-entry)

f. Fee simple subject to an executory limitation (executory interest)

10) Future Interests
a. Although a future interest does not entitle its owner to present possession, it is a presently existing interest that may become possessory in the future.
b. Reversion (retained by the transferor)
i. Portion of the estate that is left over in the grantor that will become possessory upon the termination of the interest she/he granted

ii. Created whenever a person has a presently possessory estate and transfers to another:
1. A legally smaller possessory estate - Ex. O → A for life

2. A legally smaller possessory estate and a future interest that together do not add up to a fee simple - Ex. O → A for life, then to B if B graduates

a. B might not graduate, so there is a reversion

3. Any combination of estates that includes a contingent remainder - Ex. O → A for life, then to B if B graduate, and if not, then to C

iii. Any time the owner of a fee simple conveys anything other than a possessory fee simple or a vested remainder in fee simple, or a vested executory interest, O retains a reversion.

iv. A reversion exists even if it is not specified

v. Reversions can be transferred, willed, inherited and defeasible 

vi. A reversion is also implied when the law renders part of disposition invalid, i.e. violation of the rule against perpetuities

vii. NEVER SAY POSSIBILITY OF REVERSION
c. Possibility of Reverter (retained by the transferor)

i. Ex. O conveys Blackacre to Town Library Board, so long as used for library purposes.

d. Right of Re-Entry/Power of Termination (retained by the transferor)

i. Ex. O conveys Whiteacre to Town Library Board, but if it ceases to use the land for library purposes, O has the right to re-enter and retake the premises.

e. Remainders (future interests in the transferee)

i. Remainder is always created in a transferee, i.e. goes to a third party

ii. Remainder has to be capable (possible) of becoming possessory immediately upon termination of the prior estate, i.e. A’s death

1. Invalid - O (FSA) → A for life, then one year after A’s death to B (Instead of springing executory interest)
iii. Remainder cannot cut short or divest the immediately prior possessory estate unless, unless the prior estate is a reversion in O

1. Exception – O → A for life, and if B reaches 21, then to B
2. Invalid - O (FSA) → A for life, but if B graduates NYU Law, then to B (Instead a shifting executory interest)

iv. The prior estate had to be a particular estate, i.e. less than a fee simple absolute

1. Invalid - O (FSA) → A (FSA), but then to B

v. Prior estate has to have been created simultaneously with the remainder

1. No remainder when “A for life” is made on Monday, and then “to B” is made on Tuesday

vi. At common law, vested remainders were transferable, but contingent remainders were not.

1. Today both are transferable, descendible, and devisable.

f. Vested remainders
i. The remainder is vested if:

1. There’s no condition precedent other then the natural expiration of the prior estate and

2. It is possible to identify who would get the right to possession at any time the prior estate might expire and

3. Taker must be able to take it at expiration of the prior estate

ii. The remainder is vested subject to open or vested subject to partial divestment if later-born children are entitled to share in the gift.

iii. Examples

1. To A for life, then to B and B’s heirs

2. O → A for life, then to B and her heirs, but if B does not survive then to C and his heirs.

a. If, after words giving a vested remainder, a clause is added divesting it, the remainder is vested

g. Contingent remainders

i. The remainder is contingent if:

1. It is subject to a condition precedent other than the natural expiration of the prior estates or

2. It is created in favor of someone not yet been born

3. It is created in favor of someone who is unascertainable

ii. Whenever there is a contingent remainder, O has a reversion

iii. Contingent remainders are subject to Rule against Perpetuities, whereas vested remainders are not.

iv. Examples

1. To A for life, then to B’s heirs

a. B’s remainder is not vested if B is still alive, because it is not possible to determine his heirs

b. Gifts to the heirs of a living person are contingent

2. To A for life, then if B has remarried to B and B’s heirs, or if B has not married to C and C’s heirs

a. Alternative contingent remainders

h. Executory Interests

i. Any future interest created in a third party that is not a remainder
ii. An executory interest can cut short an interest in another transferee  (shifting) or can divest O’s reversion (springing)

iii. If it is not capable of becoming possessory upon the termination of the prior interest, then it is an executory interest
iv. In a trust, the trustee (the legal owner) is subject to orders of an equity court, which enforces the trustee’s duties to the beneficiaries, who are said to hold equitable interests (or interests enforceable in equity).

v. Examples

1. O → A for life, then to B and her heirs, but if A is survived at his death by any children, then to such surviving children and their heirs. (A is alive and has 2 children)

a. A has a life estate in fee simple

b. B has a vested remainder, subject to divestment by the executory interest in fee simple in the children.

Bargaining Solutions to Failures in the Free Market
1) Free market model

a. Allocates scarce resources to maximize overall social utility

b. Rational self-interested consumers are going to show what they care about in their purchasing decisions.

c. The market will clear at a point that maximizes consumer surplus and producer net profit

2) Problems with the free market model and why it is not necessary to intervene
a. People are not always rational/self-interested

i. People may be risk averse

ii. Pervasiveness of spite
iii. Offer/ask disparity

1. May be explained by personality theory
iv. Endowment effect

1. The more I have, the more I want

v. Fallacy of sunk costs

vi. Society shapes preferences

1. Model assumes that preferences are innate

2. Regulating here seems problematic since it is paternalistic

b. Principle-agent problem

i. Consumers might act rationally, but they might have delegated the decision to an agent.

c. Information imperfection

i. Lack of information or different processing of information

d. Monopolies
i. Insufficient number of sellers 
ii. Natural monopolies/lack of competition

iii. Insufficient funds

iv. Predatory pricing

e. Unjust initial allocation of resource

i. Since the distribution of wealth in unequal, the market is skewed towards the preference of the those with more wealth

ii. In actuality, everything in the free market model is built upon the initial distribution

f. Externalities

i. Ability to impose costs on others may shape purchasing decisions

3) For the supply and demand curve to reach an equilibrium

a. The market has to be competitive with a large number of buyer and sellers or the market has to be low-cost so more sellers can move in

b. There must be an assumption that the product is fungible

c. There must be an assumption that all products are traded on the market and have been propertized

d. There must be an assumption of no externalities
i. They are the main drive of property law and regulation

4) Types of economic efficiencies

a. Pareto superiority

i. A is superior if one person is better off under A and no one is worse off

b. Pareto optimality
i. A is optimal if it is impossible to reallocate without making someone worse off
ii. Pareto optimality requires unanimity

iii. The free market will work towards Pareto optimality

c. Kaldor-Hicks efficiency (most common in property law/public policy)
i. Is there a state of affairs in which even though you make someone worse off, your gains are enough that you could pay off their losses and still come out ahead
1. Problem is that we don’t always make the winner pay off the loser, which has enormous distributional implications

ii. It is making a normative judgment about monetizing interests, assuming a dollar means the same thing to each person.

5) Why don’t we have an unlimited number of granting models, like contacts?
a. If there are too many kinds of property, there will be information imperfections and principle agent problems
b. Main justification is that it imposes enormous information costs on the market to figure out what the property means when you buy it

c. The number of the ways it can be sold is limited to keep the market working with a relatively low number of transaction costs
Coase Theorem and its Application to Land Use Law
1) Piguvian (Traditional) Ecomics

a. Negative externality is a harm inflicted by one party on the other parties.
b. Approach is to identify who is causing the harm and then force them to internalize the externality

i. Much of nuisance is based on this and it class-biased
2) Coase’s Approach

a. Externalities are often reciprocal and arise because there are two perfectly legitimate uses of the land, but are incompatible with each other
i. Coase would not waste time allocating fault.

ii. Coase would choose to focus on the least-cost avoider.

1. This ignores temporal (first in time) issues

2. People might take steps to not be the least-cost avoider

3. Placing the burden on the least-cost avoider raises distributional problem

iii. When introducing fault determination, you allow for the influence of judgment values and instead focus on the co-allocation of use
iv. Two few people in the bargaining process results in a bilateral monopoly, while too many people results in holdout problems

b. In the absence of transaction costs, the parties will negotiate the efficient result, regardless of the law

i. However, it is necessary to know whether the damaging business is liable or not for damage caused since without the establishment of this initial deliniaation of rights there can be no market transactions to transfer or recombine them.

c. The law should be designed reduce transaction costs and holdout problems, by assigning property rights and making entitlements alienable
i. Government intervention will allow people to bargain or to reach the bargain the parties would have without transaction costs

ii. The law automatically skews the market when it chooses one side
iii. This imposes enormous information costs on the government

iv. If the costs are too high, government will to rely on other devices.
d. Unless the arrangement of rights is established by the legal system, the costs of reaching the same result through the market may be so great that this optimal arrangement of rights and the greater value of production, which it would bring, may never be achieved.

Dead Hand Control
1) Techniques for Dead Hand Control
a. Shape the nature of the estate, so by definition certain things can’t happen

i. Fee tail (“A and the heirs of A’s body”)
1. A has it and it passes to the heirs of A’s body. If the line of lineal heirs comes to an end, it reverts back to O.

ii. Fee conditional (“A and the heirs of A’s body”)
1. A takes a feel simple absolute only if A has an heir of his body. Accordingly, A could transfer to C.
b. Efforts to influence the behavior of the future estateholder, by making ownership contingent on certain behavior

i. Fee simple determinable

1. Ex. To A, so long as A uses the property as her residence, then to revert to O
2. So limited that it will end automatically when a stated event happens

3. Words that merely state motive create a fee simple absolute

4. It is created by words of duration
5. Future interest is the possibility of reverter

ii. Fee simple subject to a condition subsequent

1. Ex. To A on condition that A use the property as his residence, if he does not, then O and O’s heirs may re-enter.
2. It is created by a condition
3. Does not automatically terminate, but may be cut short or divested at the transferor’s election when a stated condition happens

4. Unless and until entry is made, the fee simple continues
5. Future interest is the right of re-entry

iii. Fee simple subject to an executory limitation

1. Ex. To A, so long as A uses the property for her residence, then to B and his heirs.
2. Future interest is an executory interest lying with someone other than the transferor.
3. It is treated like it is automatic

c. Efforts to influence the behavior of future interest holders, by making their ability to take the interest subject to making them behave in particular way

i. Contingent remainder

d. Efforts to influence the future, by making such condition run with the land

i. Covenants

2) Motivations of those who want dead hand control

a. Keep property in the family
b. Control the family
c. Want to anticipate future events
d. Make sure that it is used in a way consistent with their values
i. Restatement says that an absolute restraint on a fee simple is void
e. Want to control future use of the property to maximize current value
3) Motivations of those who want to limit dead hand control

a. Follows from personality/labor theory
b. Want the property free from any strings
c. “The world should belong to the living”
i. The dead are bad at predicting how the future unravels
d. Tends to perpetuate the concentration of wealth
4) Historical Efforts
a. O takes the problem to the legislature and gets the Statute de Donis, which said the tenant in fee tail could alienate his possessory interest, which ended upon his death, but he could not affect the rights of his issue to succeed to the land upon his death.

b. The courts come back in and allow A to disentail, by creating a fee simple absolute from the fee tail, via a collusive lawsuit, brought by C.
Marenholz v. County Board of School Trustees (pg. 242)
· Huttons conveyed 1.5 acres out of the 40 they owned to be known here as the Hutton School grounds, to the Trustees of School District No. 1. and the deed provided that “this land to be used for school purpose only, otherwise to revert Grantors herein.”

· In 1941, the Huttons conveyed to the Jacqmains the remaining 38.5 acres and in 1959, it was conveyed to Marenholz.

· The Huttons died intestate and left as their only legal heir their son Harry Hutton.

· After 1973, the property was used for storage purposes only.

· In 1977, in May, Harry conveyed his reversionary interest to Marenholz. Later, he released his interest to the school.
1) The issue is whether this was a fee simple determinable or a fee simple subject to condition subsequent?

a. In this Ill, rights of reverter/right of re-entry cannot be transferred inter vivos so Marenholz’ rights depend on the determination

i. Today inter vivos sales are allowed

ii. All defeasible fee simples have a forfeiture provision

b. If they have a fee simple determinable, with the possibility of reverter, then as long as the terms of the grant are not violated, the school is fine. But if it is not then the land automatically goes back to owner.

i. Court sides here saying that the use of the word “only” immediately followed by “for school purpose” demonstrates that the Huttons wanted to give the land to the school district only as long as it was needed and no longer.

c. If they have a fee simple subject to condition subsequent and a right of re-entry, it is not automatic and Harry Hutton never exercised it

i. Adverse possession wasn’t an option since the statute of limitations had not been triggered, some say it starts at the event
2) Court analyzes the problem through the general rules of construction

a. Is the language more conditional or more durational?

b. Did the language specifically provide for a type of future interest?

c. Courts prefer the estate that is least harsh to the grantee, often a charity

i. Court should really be considered with the grantor’s interests

d. If they can, the court will award a fee simple absolute with a covenant, which allows for the recovery of damages/injunction, not loss of land

e. Upon a grant of exclusive use, followed by an express provision for reverter, courts have agreed that it is a fee simple determinbale

Mountain Brown Lodge No. 82 v. Toscano (pg. 251)
· This action was instituted b appellant to quiet its title to a parcel of real property which it acquired by gift deed from the Toscanos, both deceased.

· The clause of transfer from Toscano to the lodge “said property is restricted for the use and benefit of the second party and in the event the same fails to be used by the second party or in the event of sale or transfer, the same is to revert to the first parties.”

· The lodge wants to sell the parking lot to further its fraternal interests.

1) Issue is whether the use condition created a defeasible fee or if it is also a restraint against alienation?
2) We want land to be transferable and marketable, so the court voids the sale restriction, since it is a restraint on alienation, but allows the restraint on use

a. The restriction is not on the land use, but on who uses it.

b. If the condition subsequent expressly limits alienation of the property to an impermissibly small number of persons, it is void and unenforceable

3) No formal language is necessary to create a fee simple subject to a condition subsequent as long as the intent of the grantor is clear and that is the case here.

a. They wrongly paired it with the possibility of reverter, not a right of entry

4) Problems with dead hand control

a. Treats land as special, rather than fungible

i. This is the result of the law developing out of an agrarian society
ii. Conversely, allowing dead hand control would encourage people’s sense of security and reward productivity and investment

b. Conditions may change once you are dead

i. Thus, trusts are preferred.

c. The current disfavor with concentrated wealth

a. Dead-hand control automatically reduces the sale price on the market.

d. It also limits the mortgagebility of the land

5) States have attempted to address these issues through Marketable Title Act.

a. They require, ala adverse possession, to record the possibility of reverter every 20 years

b. Other states have law that behaves like a statute of limitations

c. Other states refuse to impose conditions that they see of nominal value

6) Defeasible life estates
a. Types

i. Disabling restraints

1. Ex. To A for life, but if A should attempt to transfer, the transfer is void

2. Withholds from the grantee the power of transferring his interest

ii. Forfeiture restraint

1. Provides that if the grantee attempts to transfer his interest, it is forfeited to another person

2. To A for life, but if A should attempt to transfer, then to B or reverts back to O

iii. Promissory restraint

1. Provides that the grantee promises not to transfer interest

2. To A for life, but A promises not to transfer. If A breaks the promise, they would have to pay damages.

b. Law prefers the promissory restraint, will refuse to enforce the disabling restraint, and will occasionally allow forfeiture restraints (protect creditors), and prefers covenants to all of them
c. Courts will not allow restraints that would violate racial discrimination or punish surviving spouses for remarrying or are out of malice (Casey)
Rule Against Perpetuities
1) An interest must vest, if at all, not later than 21 years after some life in being at the creation of the interest

a. Seeks to limit the ability of the grantor to control property though the use of contingent remainders and executory interest and further alienability
b. A grantor ought to have some control over the next

c. If a contingent remainder violates the rule in perpetuities, it is void.
d. Future interests retained by the transferor, reversions/possibility of reverter/rights of entry, are not subject to the Rule.

e. Examples

i. Valid Ex. O → A for life, then to A’s first child to reach 21.

ii. Invalid Ex. O → A for life, then A’s first child to reach 25.

1. It might not vest within 21 years if A’s children die or he has a younger child.

iii. Valid Ex. O → A for life, then to A’s children for their lives, then to B.

1. Even though the vesting in B may take place after 21 years, it was vested upon creation and is valid.

2) Some states apply a wait and see approach
a. The Uniform Statutory Rule Against Perpetuities (USRAP), promulgated in 1986, supersedes the common law rule, and is 90 years.

b. If an interest does not vest within 90 years, the contingent interest will be reformed by a court at the end of 90 years so as to most closely approximate the dispositive plan of the donor and vest within 90 years.

3) Reformation of invalid interests so as to carry out the transferor’s intent within the perpetuities period, known as cy pres, is mandated by statutes in some states.

a. Age contingencies in excess of 21 that cause gifts to fail are reduced to 21. 

b. The fertile octogenarian is dealt with by a presumption that a woman is incapable of bearing children after 55.

4) Striking out provisions can result in the creation of fee simple determinable and even fee simple absolutes, you simply cross out the invalid provision and re-read.

5) No estate tax was levied at the death of the life tenant and for 70 years, this was used as a loophole. In 1986, the loophole was closed and said that the death tax is due at the expiration of each generation.

Baker v. Weedon (pg. 230)
· John Weedon was married twice prior to establishing his final residence in Alcorn County. His first marriage produced two kids, one of whom (Baker) produced three grandchildren. His relationship with them was strained.

· Weedon married again and produced another child, but his wife and child are deceased.

· At 55, he then married Anna Plaxico (17 years of age) and although they never had kids.

1) The deterioration and waste of the property is not the exclusive and ultimate test to be used in determining whether a sale of land affected by a future interest is proper, but also that consideration should be given to the question of whether a sale is necessary for the best interest of all the parties.

a. In this case, a sale would not serve the best interests of all parties, because it would cause great financial loss to the remaindermen.

b. The court does suggest a willingness to accept a private agreement to sell of the land, piece by piece

c. The background rule was allowing sales if there would be permissive waste, i.e. paying taxes and maintenance

d. Intervention is necessary because there could be holdout problems and a bilateral monopoly presents an increase in transaction costs

2) Most courts will allow a sale when there are unborn, unascertained, or minor remaindermen 

3) O → Anna for life, then to her children, if she dies without issue, then to my grandchildren

a. Anna gets a life estate

b. Her children get a contingent remainder

c. His grandchildren also get a contingent remainder

4) Problems

a. O would probably have preferred satisfying Anna’s needs to his grandchildren

b. It is also grossly inefficient to be carving up the land in this way.

c. The current price of the land would likely take into account future value

d. The court is comparing unlike terms of future and present value.

5) This presents an example of conflict between present and future estates

a. This also presents the idea that waste is a way of forcing the internalization of costs
6) Future vs. Present interest holders

a. Life tenant has a right of undisturbed possession, i.e. no trespass
b. Future interest older only has a right to inspect the land to see that waste is not being committed

c. The life tenant is entitled to the ordinary and recurring income from the land, in this case the interest

i. Can keep doing what was being done on the land when inherited

d. Life tenant is entitled to income from investment of the proceeds of a sale

e. If there is a discovery of a new resource on the land, the court requires the life tenant to meet with the future interest holders

i. Reasonableness applies

7) Waste

a. Law of waste adapts to local circumstances and adapts over time

b. The nature of both the possessory estate and the future interest will affect how the courts draw the line between reasonable use and waste

i. The greater the present interest, the more incentive the holder has to use the land wisely and result in the internalization of costs
c. Types

i. Permissive waste

1. Failure to preserve the land in a reasonable state of repair

2. Requires life tenant to pay the taxes, carrying costs up to the income and the reasonable retail value of the land

3. Not responsible for extraordinary repairs, just normal maintenance

ii. Voluntary (affirmative) waste

1. Life tenant must prudently manage and cannot take actions that will decrease the value of the future estate

a. Ex. Cutting down every tree

iii. Ameliorative waste

1. Changing the nature of the land use for the better

a. Not allowed because of the unique way in which the common law treated the use of structural markers

b. Modern rule is that change is allowed if it you have at least 5 years remaining, will not reduce the market value, if a prudent owner would make the decision, and it is not explicitly forbidden

iv. Reverse waste

1. The holders of the future interests were lower the life tenant’s right to receive income from the property

2. Only judicially created rules allow a sale in such instances

d. Remedies
i. Forfeiture, if the future interest holder is vested

ii. Damages

iii. Injunction

1. Contingent remaindermen are less likely to be able to get an injunction

e. Rationale

i. To force the present possessory interest to internalize the cost of his behavior to the future interest
ii. Fairness requires not unduly harming value of the future interests

iii. To give effect to the desire of grantor that property be passed on

Concurrent Interests
1) Joint Tenancies(To A & B as joint tenants with right of survivorship) 4 unities req

a. Unity of time

i. Must be acquired or vest at the same time

i. O ( A for life, then to such of my children as graduate law school

1. Assume O has 3 children (B, C, D) at time of will

2. When B graduates, it vests subject to open since others could also graduate

3. Since it doesn’t vest at the same time, they don’t hold as joint tenants and instead hey are tenants in common

b. Unity of Title

i. Must acquire title by the same conveyance or will, at the same time

ii. Suppose O dies intestate, with 3 children (A, B, C)

1. Can’t take a joint tenancy by intestate or another act of law, i.e. it is not inheritable, although there are federal estate tax
2. Intestate succession is not a conveyance, it is just a default

iii. Suppose O ( O & A as joint tenancy with right of survivorship

1. Since O already had some, it wouldn’t be considered that they were acquiring title at the same time

2. Traditionally, if you already owned land you couldn’t convey it to yourself and someone else.

3. Riddle indicates that states have done away with this rule

c. Unity of Interest

i. Equal undivided shares & identical interests measured by duration

ii. Suppose O ( A for life, as joint tenants with B in fee simple absolute

1. Has to be identical in duration and interest

2. Rule can be bent in bank accounts held in joint tenancy

d. Unity of Possession

i. Each has to have the right to possess the whole thing and each can give exclusive possession to the other
ii. Creates problems since both can’t build their house on same spot

iii. In some cases, it is the ability to theoretically possess whole land

e. Joint tenancy ceases to exist when one unities is eliminated

f. Severance is allowed in a joint tenancy, and under Riddle, A’s transfer destroys joint tenancy, not in a tenancy by entirety

g. With joint tenancy, the minute one of the joint tenants dies the interest in the other tenant expands to the entire property unencumbered
h. Joint tenants own by the whole and by the part – legal fiction whereby joint tenants are regarded as one singular entity.  
i. Avoids probate because no interest passes on the joint tenant’s death

j. As joint tenants, if A takes out a mortgage on their share of the property and A dies, the mortgage will go away and B will own the whole property

i. Under tenancy by the entirety, if the mortgage forecloses, creditors only get future right of survivorship, marriage property is protected

ii. Supreme Court says the wife’s interest can be criminally forfeited

2) Tenancy in common (To A and B)
a. Current presumption is that you intend to create a tenancy in common, unless you specifically indicate what you want is a joint tenancy

i. Some states grant a tenancy in common in life estate with contingent remainder in the survivor even when JTRS is specified

b. Separate but undivided interests in the property

c. Each co-tenant owns an individual part with the right to possess the whole
d. The interest of each is descendible and conveyed by deed or will

e. There are no survivorship rights and it is inheritable

f. It can be severed by partition, either sale or in kind

3) Tenancy by the entirety (To H & W, as tenants by the entirety)
a. Can be created only in husband and wife (5th unity)
b. Four unities from joint tenancy are required
c. Many of these states presume any time you give property to husband and wife you are doing so by tenancy by the entirety

i. At common law, to create tenancy by entirety before married you have to convey to a straw who will convey back after marriage

d. Surviving tenant has the right of survivorship and it cannot be defeated by a conveyance to a third party, unless jointly

e. Severance is not allowed
f. Divorce terminates the tenancy and creates a tenancy in commonUnder tenancy by the entirety, if the mortgage forecloses, creditors only get future right of survivorship, marriage property is protected
4) For all share
a. Share rent

b. Portion of taxes

c. Cost of repairs can be deducted from rent, if there is rent

d. Value of rent can be recovered via partition
Riddle v. Harmon (pg. 345)
· Riddle didn’t want her husband to inherit her property upon her death, since they held as joint tenants.  So she conveyed her property to herself as a tenant in common.

1) Court says since she could have legally achieved the same outcome with the straw, she should be able to do it on her own
a. We allow joint tenancy to be severed by conveyance but not by will

i. Ambiguity problems because residuary clauses can be read to give away and sever a joint tenancy if they are inheritable 
ii. Trying to give people of more modest means an easy way out and promote the creation of tenants in common

1. More creditable

2. Greater potential for the dispersal of wealth

3. Lawyer’s cartel for more business

iii. Right of survivorship is a risk based on surviving the joint tenant

2) Problems

a. Greater chance of knowledge about the transfer if it involved a straw, although there are issues about what constitutes notices
b. Also a greater chance of fraud when there is no straw

c. Can require a record to avoid fraud and notice to avoid husband’s ignorance, but:

i. Privacy concerns

ii. Spousal coercion 

3) If joint tenants A & B die in a common disaster and there is no sufficient evidence of the order of death, the Uniform Simultaneous Death Act says one half is distributed as if A died first and one half is distributed as if B died first

a. Murder of the other also severs the joint tenancy and creates TIC

Harms v. Sprague (pg. 350)
· William and John held as joint tenants.  John put up his undivided share as collateral for Sprague (to buy a house).  John died. 

1) Issue is whether the mortgage severed the joint tenancy and Sprague can recover the half interest that John willed to him?

2) Court follows the lien theory that mortage didn’t pass title to the land, so the joint tenancy survives and the right of survivorship passes.  

a. It’s as if William owns the whole thing, and John’s interest disappears.

b. The mortgagor’s interest disappears as well.

c. Alternative is the title theory which has the mortgage pass title to the land

3) Reasons for the decision

a. Desire to preserve the joint tenancy so we can avoid the need for probate

b. Law shouldn’t presume that everyone taking out a mortgage intends to sever the joint tenancy, since people don’t see it as giving up title.

c. Following the title theory could create a slippery slope for renting, etc

d. Even though it is unfair to creditors, maybe we want to push them to be more sophisticated 

i. Although this could also result in privacy concerns

4) In general with foreclosures, the law is that the mortgage expands to cover the whole undivided interest.

a. But this seems wrong since at the time of the mortgage, the collateral was only an interest in half the land

Delfino v. Vealencis (pg. 359)
· Plaintiffs own 99/144ths of the land.  The defendant owns the other 45/144ths.

· Defendant lives on a section of the land and operates a garbage removal service.

· Plaintiffs want to convert the land into a subdivision, so they want D out.

· D wants to stay because it’s hard to find a place to take her garbage trucks
1) Issue is whether P can force the sale of the whole land (partition sale) and divide the money according or can the land be divided physically (partition in kind)?
2) General rule is that we prefer a partition in kind, except when the physical attributes of the land make it impossible or when the interests of the owners would be better served by a sale of the land (burden on moving party)
a. Trial court had ordered a partition sale under a Kaldor Hicks value-maximizing theory

i. In fact, though, the courts are almost always ordering a sale, either because the parties wish it or the court sees it as the fairest option
b. Court was convinced that it was physically possible since there are only two parties and it is easy to keep the development and the garbage area separate and reward the societal interest

c. Issue is how much attention we are going to pay to the personality interests in land as opposed to looking at the land as a fungible asset

d. Partitions are available to any joint tenant or tenant in common

3) Concurrent  vs. Successive Interests

a. With successive, you need to worry about having all of the parties present

b. Concurrent interest are also easier because you aren’t dealing with speculation about use and value of the land in the future

4) On remand, an acre was carved out for the defendant, the defendant was forced to pay damages, and the access to the land was severely limited

a. The problem with this is that it gave the plaintiff greater rights then they would have received through the normal land use process

b. It seems backwards to have greater rights against a co-tenant, then a stranger (neighbor)

c. Partitions in kind were especially troublesome for poor black Southerners, when rich men would come in, take an interest and then ask for a partition

Spiller v. Mackereth (pg. 369)
Spiller and Mackareth are tenants in common, when lessee vacates their warehouse Spiller moves in.  M tells S move out or pay me rent. S doesn’t leave, M sues.
1) Tenant in exclusive physical possession doesn’t owe rent to tenant without possession unless there has been an ouster.
a. Mere refusal to pay rent or using it yourself is not an ouster.

b. To show ouster, you have to prevent access/usage in the way you are using the property and make a claim of sole ownership

i. Locks on a building are insufficient for a claim of ouster

ii. A refusal to agree to beneficial rent to a third party can be ouster

iii. Adverse possession is not viable because it is not notorious

2) Justification

a. Encourage possession/productive use

b. Consistent with nature of the estate, that both have a right to possession

c. May be fairer if person in possession is taking care of land

d. Alternative is that a tenant in common with possession pays rent even without ouster.
i. Avoid litigation about what’s ouster

ii. Co-tenants forced to agree about land-use, not just first-in-time or might makes right

iii. Assuming an ouster, the tenant in possession can deduct normal maintenance expenses from the rent owed
iv. However, the tenant in possession can ask for taxes and interest on the mortgage, i.e. anything that would cause the land to be lost
e. Most jurisdictions also say that if a co-tenant is collecting rent from a third party, the co-tenant has an obligation to share rent with other co-tenants
3) Fiduciary duty of co-tenants
a. Co-tenants are not assumed to take into a account the interest of co-tenants

b. The exceptions are if one re-buys the land when is put up for a mortgage foreclosure or tax sale, there are familiar ties, or adverse possession.
4) Waste and co-tenants

a. Courts are split about how to apply the waste doctrine:

i. Enjoin any depletion of resources and require consent of all

ii. Allow any co-tenant to take, but he must split the proceeds 

iii. Allow them to exploit whatever there share is

Swartzbaugh v. Sampson (pg. 373)
· The Swartzbaugh’s own a walnut grove, but are getting older. Mr. Swartzbaugh enters into a 10-year leasehold with Sampson for a piece of the land, even though Mrs. Swartzbaugh did not want the land leased for a boxing pavilion.

1) Issue is whether one co-tenant (joint tenant) can prevent the other from leasing out the land?
a. The short answer is no, to require otherwise would require unanimity and result in a tragedy of the anti-commons.

2) One co-tenant can lease a share of the land, but that share is a non-exclusive possession, since each joint tenant is entitled to possession of the entire property
a. Rule is meant to encourage productivity, be consistent with joint tenancy, and allow considerations of fairness to come into play (ex. elderly parent)
i. Concern about allowing a co-tenant to lease land and drastically change use, but ameliorative waste is being treated favorably.
ii. Also concerns about increased litigation and lack of unanimity.

3) Alternatives

a. Partition sale would lose the right to survivorship

b. Partition in kind would not prevent Sampson from keeping his land

c. Partition of the 10-year lease would still keep the lease

d. They could have been tenants by the entirety and thus, no sale

e. Accounting

i. Recover ½ of the rents received, although this is well below market value

f. Stick out the lease, gain an interest in the value of the fixed improvements.

i. Sampson cannot sue for cost of improvements and makes him assume the risk, while limited the exposure of the co-tenant

g. Force the situation into an issue of ouster, in which case the co-tenant is entitled to the reasonable value of the use regardless of lease terms
h. In some states, ask that it be converted into community property
i. In some states, she could sue for ½ reasonable rental value with out ouster

j. Enter into an agreement that neither will attempt to alienate their interests, but this is only legal if it is limited and for a reasonable period of time

k. No claims of adverse possession against Mr. S since he is in a lease and against Mrs. S it is difficult to prove because of the adversity issue

Landlord Tenant Relationships
1) Types (Non-Freehold Estates)
i. Term of years (Lease my apartment for 99 years)

1. At common law, there was no limit to the number of years

2. A term must be for a fixed period, but it can be terminable earlier upon the happening of some event or condition

ii. Tenancy will ( Lease for as long as both parties shall wish)

1. A tenancy of no fixed period that endures so long as both landlord and tenant desire

2. If the lease provides that it can be terminated by one party, it is necessarily at the will of the other as well

3. A unilateral power to terminate can be engrafted on a term of years or a periodic tenancy

4. Modern statutes require a period of notice

iii. Periodic tenancy (Lease on a month to month basis)

1. A lease for a period of some fixed duration that continues for succeeding periods until either the landlord or tenant give notice of termination

2. If notice is not given the period is automatically extended for another person

3. Under common law rules, half a year’s notice is required to terminate a year-to-year tenancy

4. The death of the landlord or tenant has no effect on the duration of a term of years or periodic tenancy, but it does on the tenancy at will

b. 
c. 
d. 
2) Who bears the burden of keeping the premises in good repair?
a. The common law considered covenants in a lease to be independent

b. If landlord breached their promises, tenant still had to pay, couldn’t breach

i. In contract law, the promises are considered to be dependent

c. Possible justification for independence

i. Land is special

ii. Productivity

iii. A lease was viewed as the conveyance of an estate, not just as an agreement between two parties

1. There might be initial obligation for quality, but not 20 years down the road

2. A lease was parallel to the sale of land

3. Will try to provide a default rule that will govern when the parties have not been explicit

Hannan v. Dusch (478) 

· P rented from D, holdover tenant was still in possession at start of lease.

· The lease terms had no explicit requirement to deliver possession

1) Issue is whether without an express covenant there is nevertheless an implied covenant to deliver possession?
2) The court says there is no requirement to deliver physical possession, legal possession is sufficient (American Rule)

a. The landlord did not undertake the obligation to provide physically available premises and thus it would be unfair to apply it

i. Counter is that its unfair to violate expectations of the other party

3) The alternative approach is that there is an implied covenant for legal and physical possession (English rule – Majority)

a. Default rules should reflect parties expectation of physical possession
b. Increases alienability of land

c. Nature of the damage

i. Difference between the lose of income and the lose of housing

d. Incentives for the landlord to solve the problem before it arises, i.e. reducing the risk of holdover (Least Cost Avoider)

e. Litigation efficiency

i. Even if the new tenant and landlord solve their problems, there may still be a problem between the holdover and the landlord

f. Landlord has superior knowledge about holdover tenant, i.e. checks

g. Landlord is a repeat player, better party to file eviction proceedings

Reste Realty Corp. v. Cooper (pg. 522)
· Landlord sues tenant on commercial lease for failure to pay rent

· Tenant says driveway flooding after rain made property unusable

1) No longer need to look at a pre-existing duty, just see if the landlord’s actions are making the property unsuitable for the purposes it was entered into (New Jersey)
a. This serves to broaden the notion of constructive eviction

b. The court could have used the previous common area exception
c. The court does not address the allocation of the risk issue

i. It gets around the “as is” reference in the contract, by saying the driveway is not included in “the premises” and she signed it only based on a previous relationship 

ii. There is also the moral hazard issue for both parties

d. Increasing movement to make landlord responsible for acts of 3rd parties

2) However, this may not actually be victory for low income tenants

a. You have to abandon to invoke the doctrine of constructive eviction

i. Limit this by bringing a motion for declaratory judgment (MA)

ii. Blame lack of abandonment on tougher housing market (rejected)

iii. Don’t abandon or sue for rent, but sue for damages caused by the landlord’s failure to take corrective action (Pro-contract remedy)

b. Housing may not improve, since the landlord can still rent to someone else

c. Landlords could respond by raising rent

d. Tenant may require a tort remedy to recover for his own property damage

e. The tenant bears the risk of being wrong and having to pay two rents

i. Heightened by having to give not too little, but not too much notice (Goldilocks requirement)
f. Some jurisdictions require D not to be aware of defect at the time of lease

3) Common law exceptions

a. Implied warranty of quiet enjoyment

i. Made by landlord is every residential and commercial lease

ii. To prove a breach, the tenant had to show a physical interference with the use of premises, i.e. ouster

1. It eventually expanded to encompass beneficial enjoyment

iii. It is based upon the former agrarian use of land, since no money could be made when there was an ouster

iv. Tenant can sue for difference between value of property with and without the breach.
b. Doctrine of Constructive Eviction

i. The first test was whether the affirmative acts of the landlord, or an employee, rendered the land uninhabitable, but it evolved to include the landlord’s failure to act
1. It had to be duties imposed in the lease or well-recognized implied covenants, so wasn’t useful for premises repairs

2. There is no partial constructive eviction, except in NY

3. It served to further bridge the cap between obligations
ii. Exceptions that became covered under the doctrine

1. Applied to short-term lease of furnished dwellings

2. Duty not to misrepresent the state/condition of the premises

3. Duty to disclose latent defects he knows/should’ve known

4. Duty to maintain common areas

a. Based on externalities, since no one tenant would have the incentive to maintain or fix

5. Duty to carefully undertake any promised repairs 

6. In some states, there was a duty to abate immoral conduct

iii. Remedies (same as an actual eviction)

1. Rescind the lease and recover for special damages, such as the cost of moving and the premium value of the lease (difference between the contract value and the cost of getting a similar apartment)

2. Affirm the lease, but have the obligation to pay rent suspended until the repairs are made and have the damages covered, i.e. cost of temporarily living in another place
The Illegal Lease
1) From tenant’s point of view, the attraction of the illegal lease defense is leverage it provides, since tenant can withhold rent and stave off eviction for nonpayment.

a. Ex. Brown v. Southall Realty Co., - “Housing Code Violation”

2) To use the illegal lease theory:

a. The violation must be substantial

b. The landlord must have sufficient notice, time to make the repair
3) Advantages

a. Abandonment is not required

b. Places the tenant at less risk since there is an objective building code

4) Disadvantages

a. Housing code usually applies to residential, not commercial buildings

b. In many jurisdiction, the code applies only to multiple family dwellings
c. Landlord’s have asked that even if the lease is illegal, the tenant should pay under an unjust enrichment theory and this rent could be just as high

d. It is difficult for the tenant to sue for back rent, since the lease was illegal

e. Landlord may try and evict later on

f. Applies only to defects in place at the time the lease originated, while constructive eviction continues past the initial lease signing

Implied Warranty of Habitability
· Plaintiff agreed to pay the defendant $140 a month.

· Plaintiff removed the garbage, installed a padlock, repaired the toilet, discovered leaky faucets, and during the summer months there was odor from raw sewage.

· The landlord had promised to fix them and didn’t.

· This is a non-traditional case in that she had paid the rent and was instead seeking damages.

1) In the rental of any residential dwelling unit an implied warranty exists in the lease that the landlord will deliver over and maintain through the period of tenancy, premises that are safe, clean and fit for human habitation.

a. Additionally, the implied warranty of habitability covers all tenancies and all latent and patent defects in the essential facilities, which are vital to the use of the premises for residential purposes.

b. Court is unwilling to allow for a waiver, whether it is for latent defects or she is able to bargain down. There is a fear of waiving too cheaply.
c. Allowing a waiver when the lease says so, may be saying there is actual no implied warranty of inhabitability

2) Reasons for adopting shift to the implied warranty

a. Landlord’s better position to repair, especially common areas

i. Also justifies relieving the tenant of the duty to repair, even though exceptions were made for fair wear and tear and fire damage

b. Society have shifted from an agrarian to an urban mentality

i. Today’s tenant enters into lease agreements, not to obtain arable land, but to obtain safe, sanitary, and comfortable condition
c. There have been changes in contract law

i. Ex. Implied warranty of fitness that for case

d. Tenants have no or less bargaining power

i. Information failure
ii. Discrimination

e. Externalities

i. Later cost to society from injuries, sickness, etc

ii. Lowered property value as a result of blight

3) Reasons against adopting shift to the implied warranty
a. In urban society, tenant’s ability may be the same or only slightly worse then the landlord and the other argument imagines a professional landlord
b. Rule may need to vary depending on the rural/urban nature of the location

c. The move to an urban society occurred a while ago, so someone has been bearing the burden already

d. Correct contract analogy would be to the lease, not sale of a car.

i. The implied warrant of merchantability seems to be focused more on danger to life, not the dishwasher breaking.

ii. Maybe there should be degrees of the warranty, focusing on heat, sanitation, etc

e. Different kinds of landlords will have different incentives/interests.

i. Some might be just one-step richer then tenants.

f. Cost may not even be imposed on the landlord, as he can shift it to tenants
i. Often coupled with rent control/stabilization which limits impact

ii. Issue of who should bear this cost arises just like with takings

g. Tenants use the implied warranty of inhabitability less than expected

i. No guarantee of lawyers for low income tenants

ii. Fear of having the cost passed back onto them

iii. Landlords were already bearing the burden, factored into the price

1. Posner’s says the cost will likely be born by the tenant

h. The warranty may limit the impetus for legislative remedies

i. Allows shifting of the responsibility through inclusionary zoning

1. Cost is just passed on to new home buyers

i. Moral hazard because if landlord bears the burden, tenant has no incentive to care

4) Factors of a breach of the implied warranty of habitability

a. Whether defect violates housing law or codes

i. Code violation may be necessary, but not sufficient evidence of un-inhabitability

ii. In other jurisdictions, you don’t need a housing code violation

b. Nature of the defect – does it affect health or safety?
c. Age of structure

i. This may allow people to waive, which we typically don’t allow

d. Amount of rent

i. This may allow people to waive, which we typically don’t allow

e. Amount of time since the defect occurred

f. Whether the defect resulted from some misbehavior by the tenant

g. How much control the landlord has/had over the defect

h. Whether tenant provided notice to the landlord and provided time to fix

5) Remedies available

a. Vacating the premise after giving notice and reasonable amount of time to fix and withholding future rent
i. Majority allow for non-payment and see as dependents promises

b. Stay in possession and withhold rent, then assert breach of the implied warrant as a defense for an action of eviction for failure to pay

i. This is an advance over the doctrine of constructive evidence

c. Recover reasonably foreseeable consequential damages

i. This can include cost of moving, finding new housing, etc

d. Rescission/reformation of the contract

e. Tenant can seek specific performance, i.e. enjoining the landlord

i. Courts do not like to get involved in this because of the difficulty of enforcement and the remedial problems if the landlord refuses

f. Some states have repair and deduct statutes (Hilder)
i. Sometimes authorized by statutes

ii. Sometimes allowed by the courts
1. Problematic because tenants don’t often have the financial means to make the repairs.

2. Problematic because it may be difficult to find repair people willing to get involved in such disputes or will require leans as a result.

3. Problematic because the tenant may become liable to the landlord for faulty repairs.

4. Problem of free rider problems for common area repairs

g. Punitive damages may be available to a tenant in the appropriate case when the breach is of such a willful and wanton or fraudulent nature

6) Implied warranty vs. Constructive Eviction vs. Illegal Lease
a. Implied warranty does not require abandonment

b. Illegal lease costs tenant power to invoke judicial protections of the lease

i. Risk of being immediately thrown out, unless there is a retaliatory provision (rebuttable presumption following good-faith complaint

ii. Tenant could be asked to supply some rent per unjust enrichment
iii. Lower judicial use of illegal lease theory shows a preference for regulation and deference agency institutional compentence

c. Illegal lease requires defects to exist at the initiation of the lease.

i. Only the broadest (contract) view of constructive eviction will apply to defects that arise during the lease

ii. Implied warranty covers defects that arise during the lease.

d. Implied warranty and illegal lease are limited to residential premises

i. Commercial lease dispute often involve constructive eviction.

e. Implied warranty may be inapplicable to single-family homes or rural area

i. Agrarian notion that the farmer-tenant is as capable as the landlord

f. Implied warranty has been used to impose a general standard of care, negligence, on landlords under all circumstances
i. Common law held landlords liable for tenant injury only when the landlord negligently breached limited constructive eviction duties

g. None of the theories actually require the repairs to be made and instead requiring turning to regulatory agencies to enforce or engage in repairs

h. The implied warranty of habitability does not apply to government housing, although the building codes generally, although federal code sometimes supersedes local code.

Chicago Board of Realtors, Inc v. City of Chicago (pg, 549)
· A group of property owners filed suit to challenge the constitutionality of the ordinance.
· The ordinance requires the payment of interest on security deposits, a tenants to withhold rent in an amount reflecting the cost to him of the landlord’s violating a term in the lease, allows a tenant to make minor repairs and subtract the reasonable cost, and forbids a landlord to charge a tenant more than $10 a month for late payment, and creates a rebuttable presumption for eviction around exercised rights. 

1) Forbidding landlords to charge interest at market rates on late payments of rent could hardly be thought calculated to improve public health.

a. Landlords will offset the higher cost with higher rents and screen applicants more carefully

b. The losers from the ordinance will be some landlords, some out-of-state banks, the poorest class of tenants, and future tenants.

c. If price is artificially depressed or costs of landlords artificially increased, supply falls and tenants, usually the poorest and newest, are hurt.

2) As a general rule, residential rent regulation makes economic sense if demand for rental units rises sharply at the same time that new construction of such units has been legally restricted in order to conserve resources.

a. As a general rule, the more an ordinance intrudes upon the market conditions that would otherwise prevails, the more likely it is to cause dislocations in the housing market.
b. Radin argues that rent control makes it possible for existing tenants to stay where they are with roughly same proportion of income going to rent.

Discrimination
Soules v. US Department of Housing and Urban Development (pg. 465)
· Sherry Soules was a single woman who lived with her mother and two year old daughter.

· Mary Downs, owner of Professional Realty Service, signed an agreement with Campise, the owner of a two family dwelling, to find a second tenant, and was told to find someone who could live harmoniously with the other elderly tenant.

· Soules told Downs that two adults and a child would reside there and objected when Downs asked the child’s age. Down also lied and said that no apartments were available in the Richmond area, when two were.

· Soules contacted HOME, which arranged for testers, one of who was treated differently because of children and another which was not.

1) To make out a prima facie discriminatory housing refusal case, a plaintiff must show that he is a member of a statutorily protected class who applied for and was qualified to rent or purchase housing and was rejected although the housing remained available or was given to someone outside of the class.

a. Burden of proof then shifts to defendant and they must give a legitimate, non-discriminatory reason

b. Once the reason is provided, proof shifts to plaintiff to show that the legitimate reason was pre-textual

i. Familial status was the cause here, although exceptions are made for retirement communities

ii. Qualifications for rental were not raised as an issue

iii. Standing alone, an inquiry into whether a prospective tenant has a child does not constitute an FHA violation.

2) Impact of the Fair Housing Act (FHA)

a. Most plaintiffs do not have access to the testing evidence used here

b. There are still enormously high rates of discrimination

c. Not much affordable housing has been built since FHA’s enactment

3) Why does the FHA come up short?
a. The intractable nature of housing segregation
b. It is difficult to separate legitimate and pre-textual reasons
c. Racism is less explicit and coded racism is more difficult to expose
d. Very little is put into enforcement resources
i. The award of attorney’s fees in FHA cases has the purpose of encouraging victims of discrimination to seek judicial relief.

4) Options to prove racial discrimination

a. 14th Amendment’s equal protection clause
i. Interpreted to require discriminatory intent, not just discriminatory effect (Arlington Heights)
ii. It only applies to state actors, i.e. the housing agencies

b. 42 USC §1982

i. It prohibits discrimination and guarantees everyone the same rights for sales, lease, and purchasing property. (Civil War legislation)

ii. Initially not seen as a helpful remedy to housing situations, as it was seen as limited to state actions, but not private parties.
iii. In Jones v. Alfred H. Mayer Co., the court held it bars all racial discrimination, private and public, in the sale or rental of property.

iv. It does not deal with discrimination in the provision of services or facilities and does not prohibit discriminatory advertising, but it does not contain any of the FHA exceptions

v. It also only addresses racial discrimination

c. Federal Fair Housing Act (and state and city versions) §3604
i. Amendments to the Fair Housing Act added race, national origin, gender, family status, and disability

1. Some city codes also cover sexual preference

ii. When you use an ad and indicate racial preference, it violates the statute (§3604c)

iii. Exception in §3603(b)(2) for “rooms or units in dwellings containing living quarter occupied by no more than 4 families and if the owner actually maintains and occupies one of such living quarters.”

1. Protects people by allowing them to choose who lives with them

2. Co-op boards were often formed as a way to skirt discrimination laws and the problem is a lack of evidence

5) Starrett City Case

a. To built Starrett City, there were extensive negotiations and one of the concerns was that it not become an inner-city ghetto

b. Research at the time suggested a “tipping point” where beyond it, there would be so-called “white flight”

c. Accordingly, Starrett City management imposed a quota (65% white, 21% black, 8% Latino)

d. Arguments

i. Without the quotas, it will become all minority and this does not promote integration

ii. With the quotas, there is discrimination on the basis of race and prevents blacks from having access to white apartments

e. Result

i. The quotas were struck down on the basis that the FHA had goals of anti-discrimination and integration, which sometimes conflicted.

ii. The court reasoned that race conscious remedies were only applicable if they were temporary and there was specific evidence of racial discrimination.

iii. If allowed here, the same race-based measures could be applied across the board, which could be dangerous

iv. It could shift attention away from addressing the real issues of poverty and such, which contribute to ghetto-izing
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Nuisance
1) Nuisance law reflects Pigovian analysis, in that it is based on the assumption that an externality is a harm that one party causes on another

a. Assumes we can figure out who is causing the problem and then use our legal tools to make the party at fault to internalize the cost

b. Fault-based notion has serious problems pointed out by Coase
i. One party isn’t always at fault, they may just be incompatible living next to each other

c. Remedy for nuisance was traditionally an automatic injunction
d. Nuisance law tracks the industrialization of the United States and nuisance law was shaped to allow for that industrialization

e. When the courts determine whether or not someone should get compensation for a regulation that results in a taking, they have been influenced for what has been allowed under nuisance

i. Scalia justifies his reliance on common law nuisance in takings cases because he claims we can trust common law judges, when the legislatures cannot, and it more closely mirrors expectations

2) Categories of Nuisance

a. Nuisance per se and whether it is legal determines whether it is nuisance

i. Ex. Rock blasting

b. Activities that are legal but still may constitute nuisance

c. Unintentional Nuisance

i. When conduct is negligent, reckless, or ultra-hazardous, like torts

ii. All are based in reasonableness

1. Negligence is measured by unreasonableness

2. Recklessness is measured by extreme unreasonableness

3. Ultra-hazardous is unreasonable in almost all circumstances

d. Intentional Nuisance

i. When you intend to operate the land knowing/should have known that it was going to cause problems for your neighbors

ii. The test is whether there is an unreasonable interference with the neighbor’s property

Morgan v. High Penn Oil. Co. (pg. 747)
· The land of the plaintiffs is a composite track, which they acquired by two separate purchases. It contains a dwelling-house, a restaurant, and accommodations for 32 habitable trailers.

· The oil refinery is approximately 1,000 feet from the dwelling and that for some hours on two or three different days during the week, the oil refinery emitted nauseating gases and odors in great quantities.

1) Court imposes a “threshold test”
a. Whether the harm to the plaintiff is serious and unavoidable

i. Under the Restatement Test a nuisance may not have been found

ii. Typically, an intentional tort results in liability without regard to amount of harm or reasonableness of activity, i.e. trespass

2) Restatement test for nuisance is a “balancing test” (Few courts allow explicitly)
a. The harm to the plaintiff vs. the value of the act to the defendant

b. Factors relevant to gravity of the harm are:

i. Seriousness of the harm

ii. Type of harm

iii. The social value of the plaintiff’s use

iv. Its suitability to the locality in question, and

v. The burden on the plaintiff of avoiding the harm.

c. Factors relevant to utility of defendant’s conduct are:

i. Its social value (look to profits as indicative of efficiency)

ii. Its suitability to the location, and

iii. The impracticability of the defendant preventing the harm

3) Threshold vs. Balancing Tests

a. Balancing test introduce biases (about class, race, etc) about the social utility of people’s activities (Vanvalkenberg)

b. Threshold could result in inefficiencies if the plaintiff’s land use is worthless and the defendant’s is very valuable

c. Threshold could result in inefficiencies if plaintiff is least-cost avoider

d. Balancing test could distort the minority rights of individual plaintiffs in favor of majority rights/needs

e. Both present serious distributional concerns, but they are closely bound with the types of remedy
f. Balancing test fails to consider a number of factors:

i. Least cost avoider

ii. Entitlement ending up in the hands of up the party that would bargain for it in a transaction cost free world

iii. Administrative costs

iv. Over-trying of nuisance claims

v. Whether or not the plaintiff’s use is any different from the defendant’ use, i.e. big fancy house

1. Ex. Building out of spite

vi. Any abnormal sensitivity by plaintiff, i.e. “live and let live” notion

1. Amphitheaters, Inc v. Portland Meadows
vii. Incentive effect of finding of nuisance, i.e. spurring research

viii. Relationship between  P’s use, defendant’s use and zoning rules

1. In one sense, nuisance is a judicial tool to provide protection to owners that zoning should have, but didn’t because of political reasons

a. Older system was cumulative zoning where houses were valued highest and could then be placed in industrial, lowest value, areas.

b. Area was zoned for residential use, but the industrial portion was grandfathered in (less likely)

ix. People’s perceptions and how that effects the market

1. Ex. Criminal recidivism lowering property values

4) Alternative Restatement Test

a. Look at harm to the plaintiff and whether or not paying damages to the plaintiff would shut down the defendant, if so there is no nuisance
b. Only supposed to apply to cases where the plaintiff’s seeking damages

c. Oddities about the rule

i. If defendant can’t pay for the harm, isn’t it a sign that society doesn’t value what the defendant is doing

ii. Rule says if you can’t afford to internalize, we won’t make you
iii. Perhaps there are some cases where society isn’t valuing something at its true value, i.e. prejudice

iv. Perhaps we don’t want plaintiff to shut down the defendant if plaintiff can avoid the harm at a very low cost, but defendant’s land use is not valuable enough to pay the damages

5) People as nuisances (highly problematic)
a. Courts refused to allow nuisance to be used to enforce racial segregation

b. Present issue is when a neighborhood tries to keep out a half-way house
c. The court does not like “anticipatory nuisance”, i.e. when X is built, it will cause certain harms
i. The court says let it get built and we will see what happens

ii. Problem is that once it is built, issue of waste may keep it 

6) Remedies

a. Entitlement given to:

Property Rule

Liability Rule
Plaintiff


Injunction

Damages

Defendant


No liability
        Compensated Injunction

b. Entitlement with plaintiff and property rule

i. Remedy is an injunction.

1. Plaintiff can shut down the defendant and refuse to sell.

c. Entitlement with plaintiff and liability rule.

i. Remedy is damages.

d. Entitlement with defendant and property rule.

i. Remedy is no liability.

e. Entitlement with defendant and liability rule.

i. Remedy is a compensation injunction

1. In order to shut the defendant down, plaintiff has to pay defendant an amount set by society.

Estancias Dallas Corp. v. Schultz (pg. 755)
· Schultz brought suit for permanent injunction to prevent the defendant from operating the air conditioning equipment and tower on the property next to the plaintiff’s residence.
· The trial court granted a permanent enjoinment and this decision was affirmed.

1) According to the doctrine of comparative injury, the court will consider the injury which may result to the defendant and the public by granting the injunction, as well as the injury to be sustained by the complainant by its denial.

a. If the injury to the plaintiff is slight, the injunction should be refused.

b. Balancing test to apply if you had used the threshold test for nuisance

c. Granting an injunction doesn’t need to be the final resolution, parties can bargain over whether injunction will be enforced, i.e.an injunction for sale.

2) Determination here is questionable since plaintiff will suffer $25,000 and it will cost the defendant over $200,000 to avoid the harm

a. It creates an incentives for builders to avoid the cost of the harm at the beginning, although it would still cost $40,000

3) Pros and Cons of Damages

a. Efficient result since damages the plaintiffs suffer are less than the cost defendant would have to bear not to cause the harm (surplus)

b. Likely to provide an incentive for innovation, research and development

i. If defendant has to keep paying, there is an incentive to come up with a new solution

c. May not reflect personality interests, missing plaintiffs, and if the plaintiff was there first.

d. Allow for the use to continue as long as the defendant pays the damages

e. Hard to value accurately when projecting into the future, because of people’s sensitivities and future innovation

f. Do not allow the parties to capture the benefit of nuisance.

i. In opposition to an injunction when they can bargain for some of the gain, difference between the cost of repairing and damages.

1. Although giving the plaintiff some of that gain is extortion, since there is no labor or personality interest.

g. Courts may make a mistake in damages and negotiation avoids that issue.

i. Injunction prevents costs of calculating damages, costs of courts making a mistake, assuming people can transact

h. The general institutional competence concerns about the court

Boomer v. Atlantic Cement Co. (pg. 759)

· Boomer alleged that the large cement plant injured their property from dirt, smoke, and vibration emanating from the plant.

· Cement plants are an obvious source of air pollution in the neighborhoods where they operate and there is property value loss.

· Shutting down the plant would cause a massive loss of jobs, tax dollars.

1) The appropriate alternative is to grant the injunction conditioned on the payment of permanent damages to plaintiffs, which would compensate them for the total economic loss to their property present and future

a. The ground for the denial of injunction is the large disparity in economic consequences of the nuisance and of the injunction

i. Dissent argues that this licenses the continuation of a wrong
b. Prior to Boomer, courts thought of injunctions as the only remedy, so they would often find that there was no nuisance.

c. One alternative is to grant the injunction but postpone its effect to a specified future date to give opportunity for technical advances to permit the defendant to eliminate the nuisance

d. In theory, future generations are covered because they pay less for the property, as long as there isn’t an information failure

e. Awarding damages may take leverage of injunction off government regulations and reduce the symbolic benefit of shutting down a plant

i. On the other hand, it is a federal regulation when there are cross-border externalities, so an injunction in one state may not have much impact on federal regulations
2) It is a matter of balancing the risks of the parties ability to bargain with the ability of the court to set the appropriate amount of damages

a. Error costs

i. Cost of the court getting the damages wrong and the impact on society as a whole (efficiency concern)
ii. If you are sure you can get the damages right, save everyone the transaction costs, and order damages

iii. If you are concerned you may have the damages wrong and there are low transaction costs, order injunction and let parties bargain

b. Transaction costs

i. If the court gets the determination of the nuisance wrong, there are high transaction courts, and the parties will be unable to remedy

ii. If the transaction costs are low, you can feel more comfortable ordering an injunction, because the parties will be able to fix it through bargaining

1. Hard to know if transaction costs are high, but it is higher there are lots of parties or bilateral monopolies

iii. Coase would always prefer injunctive relief, so the parties could bargain things out

1. Unless there is some reason why bargaining should not take place, such information failures or the desire to keep certain rights should be inalienable

a. Case study that nuisance cases never settle because of bad blood between parties (irrational actor)

2. Once we give damages, we cut off the bargaining because we remove the incentives of one or more parties

3) Why do we need land-use/environmental controls since there are nuisance laws, as seen as in the debate between the common law approach and regulation?

a. Nuisance is a value judgment

i. Regulation allows for political accountability

b. Zoning has costs and require majority political support, so they sometimes do things that are clearly wrong, i.e. grandfathering and lobbying
c. Nuisance creates uncertainty, since it is fact-dependant

i. Zoning is not so predictable either, due to exceptions

d. Nuisance has the tendency of letting the first use of the property govern

i. This is often seen in zoning law too

e. Nuisance law depends on piecemeal litigation, which is expensive

i. Regulation is more comprehensive
f. Regulation can also solve problems before they occur

i. However, regulation may also allow for grandfathering and dis-incentivise innovation 
g. Nuisance litigation may not adequately protect public interest, since plaintiffs may settle, may not have incentive to sue and present generations may sell out future generations

i. Incentive to sue is addressed through class action suits, provisions of attorney’s fees, and special environmental courts.

4) Nuisance Summary

a. Balance v. Threshold

b. Damages v. Injunction
i. Damages can be a one time thing or on-going
c. Common law approach v. Regulation

Spur Industries, Inc. v. Del E. Webb Development Co. (pg. 766)
· Spur’s predecessors in interest developed feedlots in 1956.

· In 1959, Del Webb began to plain an urban development, Sun City, and chose the Olive Avenue area because of the cheaper price.

· Neither the citizens of Sun City nor Yongtown are represented in this lawsuit.

1) Having brought people to the nuisance to the foreseeable detriment of Spur, Webb must indemnify spur for a reasonable amount of the cost of moving/shutting down

a. The relief is limited to a case wherein a developer has, with foreseeability, brought into a previously agricultural or industrial area the population which makes necessary the granting of an injunction against a lawful business and for which the business has no adequate relief.

b. Having shown a special injury in the loss of sales and standing to bring suit, based on the statute, an enjoinment was appropriately granted
c. Where the injury is slight, the remedy for minor inconveniences lies in an action for damages, rather than in one for an injunction.

d. In addition to protecting the public interest, courts are concerned with protecting the operator of a lawful business from knowing and willful encroachment.

2) Public nuisance protects public rights, private nuisance protects rights in the use and enjoyment of land.

a. First, since a private nuisance arises from interference with the use and enjoyment of land, only owners of interests in land can bring suit.

b. Second, since a public nuisance arises from interference with public rights, any member of the affected public can sue, but usually only if the person bringing suit can show special injury.

3) Nuisance claims can be resolved in four ways

a. Abate the activity in question by granting the plaintiff injunctive relief (Morgan/Estancias)

b. Let the activity continue if the defendant pays damages (Boomer)

c. Let the activity continue by deny all relief 

d. Abate the activity if the plaintiff pay for damages – “rule four” (Spur)

i. The last two are inverse of the first two

ii. Calabresi and Melamed claim that with the full complement of four rules, one can go a long toward achieving both efficiency and fairness in any given nuisance dispute.

Covenants (Servitudes)
1) Generally

a. Alternatives to government regulations, they are a legal tool that make private market transactions an option for land use control

b. As opposed to binding parties, they run with the land and anyone who comes into possession

c. A sub-divider can impose a specially drafted covenant that bind and benefit initial and subsequent buyers

d. Contracting just about land use is also an option, but all protection is lost when the land is transferred

e. A person enforcing a covenant is potentially entitled to an injunction to prevent violation of a negative covenant and specific performance to compel compliance with an affirmative one

2) Types (Law is now trying to put all three back together under one unified law)
a. Easements
i. An interest in land that is in the possession of another that gives the holder of the easement the right to some use or nonuse of the property that has nothing to do with possession

1. Remedy is usually an injunction

ii. Less useful with dealing with incompatible lands uses because courts were dealing with the fact that easements sometimes arise by implication, oral agreements or adverse possession and it was hard to figure out when negative easements arise

iii. Affirmative easement

1. Grants to A right to use O’s land for a particular purpose

2. Ex. Van Valkenburg
iv. Negative easement

1. Interest holder has right to keep owner of land from using property in a way she would otherwise be able to use it

2. Court reluctant to enforce, i.e. blocking flow of water, and you needed a negative easement when uses conflicted
b. Real Covenants
i. An agreement between two or more parties, or a promise contained in such an agreement, which imposes obligations on owner or possessor of land to do or refrain from doing something

1. Essentially contracts that run to persons other than promisor or promisee b/c of later connection with the estate

2. More protective of affirmative burdens, because courts are reluctant to tell people to do something and engage in continuous oversights
3. The rule is somewhat more flexible when the question is whether a burden will run

ii. Covenant has two sides:

1. Covenantor (burden)

a. Burden is always the tougher side to enforce because we are imposing a burden on someone

2. Covenantee (benefit)

iii. Requirements for real covenants:

1. Horizontal privity

a. Traditional requirement was only satisfied if both parties had simultaneous interest in the piece of land

b. Ex. Concurrent interest, landlord/tenant, easement

i. Seller and buyer did not have a simultaneous interest in land
c. Few courts strictly enforce

d. Now in most states, the requirement is satisfied if the covenant accompanies the transfer of an interest

2. Vertical privity (Same estate)

a. Must be vertical privity between the party seeking to enforce the duty and the original covantee
b. Must be vertical privity against whom enforcement is sought and the original covenantor
c. If they have lesser interest, we worry about enforcing a promise that the bigger interest made

3. Promise must touch and concern the land

a. Ex. Bouquet of flowers may be stupid

b. Restatement is less concerned with this and says we should look at the contract at the very beginning and decide if it was rational and if it was, let the promise run with the land, but have easy options for terminating when it becomes obsolete

4. Intent that promise run with the land

5. Notice of promise to person against whom the promise is to be enforced

iv. Examples

1. Enter into community and promise not to have cats

2. Enter into community and promise to pay dues to residential community association every year

3. Lease space in mall & agree not to compete with Wal-Mart

v. Real covenants were traditionally enforced by damages, i.e. allowing efficient breach

c. Equitable Servitudes

i. Two parties, or lawyers, tried to make a covenant and failed to meet a technical requirement, but ask a court of equity for help

ii. Traditional remedy was an injunction, which people often preferred so you were better off failing to make a covenant

iii. Equity and law courts merged, so differences between covenant and equitable servitudes evaporates

iv. Restatement abolished horizontal privity and vertical privity requirements, so you just need notice and intent

v. Covenants were not useful with subdividers because of the privity requirement, so law responded with the common plan doctrine – an implied, reciprocal, negative easement

1. It is an equitable servitude that said if there was a common plan for the subdivision and the owner deeded out some property with a restriction that benefited other properties that the owner was deeding out, then the restriction O gave out was reciprocal (Reliance issue)
2. Requirements were simply intent and notice, although there is some ambivalence to the doctrine’s appropriateness
3) Servitudes are used to implement four kinds of modifications

a. Shared use arrangements in which users need not acquire an ownership interest in the land

b. Arrangements to limit development of land to increase land values
c. Arrangements to assure a flow of payments, goods, services, or other benefits from the owner or occupant of land

d. Arrangements by which land is subjected to a local governance structure and provides the resources for governmental operations

4) Grounds for concluding that no servitude was created

a. Lack of horizontal privity

b. Inclusion of benefits in gross or benefits to third parties

c. Imposition of affirmative burdens

d. Failure to touch or concern

e. Statute of frauds was not complied with

f. Servitude is illegal or violates public policy (validity)

i. Racially restrictive servitudes, which could not be imposed by state under the 14th amendment, could not be enforced by courts even when imposed by private parties (Shelly v. Kramer)
g. Servitude is obsolete or unduly burdensome (termination/enforcement)

5) Covenant Checklist

a. Look at the nature of the agreement at the onset and ask whether it should not be allowed because it is irrational

b. Did parties intend for it to run with the land?

c. Did the successors in interest have notice (real or constructive) that they were going to be bound?

d. If yes allow the covenant and just make it easier to terminate and eliminate dead hand control or obsolete covenants

Nahrstedt v. Lakeside Village Condominium Association (handout)
· Lakeside Village had a clause about keeping cats, dogs, and other animals out of the condominium.

· The plaintiff did not know about the restriction, because she allegedly did not read what she was signing.

· She filed suit to prevent the homeowners association from enforcing the restriction.

1) Recorded use restrictions essential to a stable and predictable living environment for common interest residential projects are void only where:

a. Arbitrary/Irrational

i. Bears no relationships to the protection, preservation, operation, or purpose of the affected land
ii. Reasonableness of condominium use restriction is to be determined not in reference to facts specific to objecting homeowner, but by reference to common interest of the development as a whole

iii. Tougher reasonableness test applied by court is limited to when the covenants are in the original founding documents

1. Not applying would upset expectations and reliance and allow for rent seeking, even though Coase would favor eliminating dead hand control
b. Against public policy

c. Impose a burden on use that greatly outweighs any benefit
2) The applicable standard is that it is enforceable unless it is unreasonable

a. The old standard was that it would be enforced where reasonable

i. Presumption of validity discourages lawsuits and promotes stability and predictability

ii. Protects all owners from increase in association fees to fund the defense of legal challenges

b. Alternative standards

i. Business judgment rule

1. Could people exercising reasonable business judgment think this is a rational thing to do

ii. Against the government it is the rational basis standard

1. Could the legislature have conceived of a reason for what they were doing is rational

iii. Against a traditional contract it is unconscionability

3) In a co-op, you own shares and you are a lesee.

a. In a condo, you own your unit and you are a member of the residential community association and pay a fee to maintain common areas

4) Why should the court impose a higher level of judicial scrutiny?
a. Real property is seen as special

b. Some issues are unique to the land or residential communities
i. When choosing to live in a community with likeminded people, if they can’t impose their views there won’t be any community

1. Problematic if there is a tight housing market

5) How can market intervention be justified?

a. Market has failed to include a consideration of the externality of living with pets in pricing and maintaining property

i. But this can be corrected by allowing people with pets to pay more

b. Covenants are an example of dead-hand control

i. Problem is the transaction costs with trying to achieve a supermajority to change the rule

1. However, if people pay more than market price in reliance on this rule it can be unfair to change the covenant

c. External effects, such as discrimination

d. Efficient breach is barred by the option of injunction

i. Heavy reliance interests and the establishment of roots by parties
e. Results are anti-redistributive since these walled off people don’t have to pay taxes to support others

6) Key questions

a. Why are people doing this?

b. What is the market failure that justifies intervention?

c. How does right relate to remedy (efficient breach)

Lewis v. Gollner (pg. 16)
· Gollner contracted to purchase a lot and the plaintiff and three of his neighbors purchased Gollner’s contract and obtained an oral promise not to erect low income housing anywhere else in the immediate area.

· Gollner then sold the lot to his wife, who claims she isn’t a party

1) Court ruled the agreement between the parties was a personal agreement between the parties and did not impose any covenant or equity upon any lands.

a. Courts should not spell out a restrictive covenant as to real property unless the agreement is clear and for a defined purpose

b. People needed tool to bind successors in interest in the property

c. In response, law came up with law of servitudes

Cordogan v. Union National Bank of Elgin
· Roy Wauchope set up Riverside Manor in 1957 and set up restrictions running with the land, that no buildings shall be erected, altered, placed, or permitted to remain on any lot other than one detached single family dwellings.

· His son took over and testified that he had never been able to sell the 3 remaining lots as single family residential lots.

· Plaintiffs testified that when they bought their lots in Riverside Manor, they were informed or and relied on the single family restriction.

1) Court says when you think about terminating the covenant, if it continues to be a benefit to some people, it should not be allowed to be terminated

a. There were no internal changes inside the subdivision, so the covenants are no less valuable then when they were originated

i. External changes can be considered but they must effect entire subdivision not just border lots (Doctrine of Changed Conditions)
ii. If the case had involved purchasers, not the original developer the result would be no different

b. Owner owned those other lands that had become shopping malls, so he had “unclean hands” to justify to try and eliminate the covenant

c. Unless contrary to public policy or principles of waiver/estoppel, violation of restrictive covenants with be enjoined

i. Burden of proof is on party who seeks relief from enforcement of restriction

d. A residential community association’s governing documents may authorize it to grant variances from design restrictions.

Blakely v. Gorin (pg. 31)
· Ritz Carlton wants to build another building across the alley and connect it with bridges over the alley.

· One of the restrictions dating back to 1857 required that a passageway be laid out in the rear of the premises, and it must be kept open and maintained.

· The case was remanded for damage assessment for the loss of benefit in air and light.

1) Weighing and comparing the interests of the parties and the public in accordance with the several provisions gives rise to the conclusion that there should be no specific performance.

a. Continued enforcement would tend to impede reasonable uses of land and allowing the land development would be beneficial to taxpayers
2) Both nuisance law and covenant begin with the presumption that breaches will result in an injunction

a. Now, courts determine whether the circumstances are such that an injunction should be awarded, as opposed to damages

i. Maybe we should be more reluctant to award damages since parties have bargained for this result.

ii. If covenant has become obsolete, then why not just throw it out, because awarding some damages shows it still has some use

iii. If it’s the public that’s benefiting, why should the individual suffer

1. There is always the fallback of takings

iv. To not allow damages is to always prevent efficient breach

v. Allows judges to respond to forces of development, ala nuisance
vi. Allows courts to overcome holdouts, strategic behavior

3) Termination of covenants (Tough to show they are obsolete)
a. Termination by statute

i. Limit the period of time which a covenant can run and can only continue with renewal by majority/supermajority vote

1. Particularly applicable to residential communities

b. Laches

i. Version of the statute of limitations principle combined with an unclean hand doctrine

ii. If you allowed someone to violate the covenant for a long period of time, you cannot then enforce it

c. Estoppel
i. You benefited from violating the covenant and cannot now complain about this violation

d. Waiver
i. If you ignored violations in past, you cannot then try to enforce it
ii. In Fink v. Miller, the court examined the number, nature, and severity of the violations, and held that the homeowners had abandoned the covenant governing shingling materials

Public Choice
1) Theory of interest group pluralism is that regulation is a resource that is sold to the government at the highest bidder and regulations turn out to be a commons
a. It is a hybrid: the application of the economist’s methods to the political scientist’s subject.

b. The currency of the market is votes, campaign contributions, legal and illegal favors

i. Some argue that crucial features of the political world do not fit the economic model, because it does not account for ideological politicians like Reagan or popular voting

ii. DeBow argues that popular voting is compatible with public choice because the very impotence of the vote allows people to express their ideological viewpoints at minimal personal sacrifice

c. Individual citizens act as self-interested rational product maximizers – seeking to get the most for themselves at the least cost to themselves, overexploiting the resource, while externalizing the cost onto the general public or other interests groups

d. Legislators and regulators adopt regulations because they are also acting as rational self-interested maximizers

i. Maximize the chance of being reelected, being elected to higher office, and receiving promotions up the regulatory branch

2) Some people vehemently disagree with public choice theory and its negative depiction of regulations

a. Others argue that there is nothing wrong with people voting for those who will reflect their interests and officials will then reflect the majority view

3) Policy may not reflect majority views:

a. Information failures
i. Lack of full information
ii. Lack of ability to process the information
1. Fine line between this and paternalism

b. Compromised legislation

c. Tipping point (Unintended consequences)
d. It tells us nothing about the intensity of preferences

e. There may be certain kids of rights we don’t want subject to majoritarian calculus

i. Key is when should property be one of them
f. Collective action problems

i. It is easier for smaller, more intense, more resource-rich, previously organized groups to get organized and thus, more likely for them to vote

g. Log-rolling

i. Getting supporters of one issue to support another for an exchange of support

h. Lack of single issue campaigns

4) Landlords are likely to be the better organized, smaller group, so why does NYC maintain moderate forms of rent control?

a. Maybe be some ideology interfering with public choice theory

b. Costs is being externalized on future tenants who may not be in the electoral at all

c. You value what you have more than what you don’t have

d. May be landlords who are voting for rent-control

i. Outside of Manhattan, rents charged under rent control tend to be higher than rents on the free market

e. Principle-Agent problems

i. Legislators may not be enacting what the majority of constituents want, but rather what can help them gain further office

f. Ordinance that was passed may be symbolic

g. At some point the numbers of tenants may be sufficiently high that it outweighs the small number of landlords

Choice of Regulatory Tools (Regulation is just like the Fisheries)
1) Characteristics of the free market model

a. Allocates scarce resources to maximize overall social utility

b. Rational self-interested consumers are going to show what they care about in their purchasing decisions.

c. The market will clear at a point that maximizes consumer surplus and producer net profit
d. For the supply and demand curve to reach an equilibrium

i. Market has to be competitive with large number of buyers, sellers or the market has to be low-cost so more sellers can move in

ii. There must be an assumption that the product is fungible

iii. There must be an assumption that all products are traded on the market and have been propertized

iv. There must be an assumption of no externalities
6) Impact of economic theories on the market model

a. Piguvian (Traditional) Ecomics

i. Negative externality is a harm inflicted by one party on the other
ii. Approach is to identify who is causing the harm and then force them to internalize the externality (nuisance law)
b. Coase’s Approach

i. Externalities are often reciprocal and arise because there are two perfectly legitimate uses of the land, but are incompatible 

ii. Coase would not waste time allocating fault.

iii. Coase would choose to focus on the least-cost avoider.

1. This ignores temporal (first in time) issues

2. People might take steps to not be the least-cost avoider

3. Placing the burden on the least-cost avoider raises distributional problem
4. But fault determination raises judgment values
iv. Two few people in the bargaining process results in a bilateral monopoly, while too many people results in holdout problems

1. However, it is necessary to know whether the damaging business is liable or not for damage caused since without the establishment of this initial delineation of rights there can be no market transactions to transfer or recombine
v. Law should be reduce transaction costs and holdout problems, by assigning property rights & making entitlements alienable
vi. Government intervention will allow people to bargain or to reach the bargain the parties would have without transaction costs
1. In the absence of transaction costs, the parties will negotiate the efficient result, regardless of the law
vii. The law automatically skews the market when it chooses one side

1. This imposes high information costs on the government

2. If costs are too high, government will use other devices.

viii. Unless the arrangement of rights is established by the legal system, the costs of reaching the same result through the market may be so great that this optimal arrangement of rights and the greater value of production, which it would bring, may never be achieved.

7) Types of economic efficiencies

a. Pareto superiority

i. A is superior if one person is better off under A and no one is worse off

b. Pareto optimality

i. A is optimal if it is impossible to reallocate without making someone worse off

ii. Pareto optimality requires unanimity

iii. The free market will work towards Pareto optimality

c. Kaldor-Hicks efficiency (most common in property law/public policy)

i. Is there a state of affairs in which even though you make someone worse off, your gains are enough that you could pay off their losses and still come out ahead

1. Problem is that we don’t always make the winner pay off the loser, which has enormous distributional implications

ii. It is making a normative judgment about monetizing interests, assuming a dollar means the same thing to each person

8) What types of market failure will justify regulatory intervention
a. Negative externalities

b. Principle-agent problems
i. Consumers might act rationally, but they might have delegated the decision to an agent
c. Information Failure
i. Lack of information or different processing of information
d. Lack of a sufficient number of buyers and sellers

i. Sellers could have colluded

ii. Barriers to entry are high
iii. Insufficient funds

iv. Predatory pricing
e. Assumption of perfect competition is inaccurate

f. Products are insufficiently fungible to provide a competitive market

g. Failure of market to provide public goods
i. Because there are external benefits (positive externalities) to the production of a public good, and the free rider problem cannot be resolved because the good is non-excludable
h. The problem of external costs or negative externalities

i. This is the inverse of public goods

i. Cultural forces have wrongly shaped preferences

j. Initial distribution of wealth is unfair/Societal interests are different
i. Caution about these two because of the worry about paternalism
ii. Since the distribution of wealth in unequal, the market is skewed towards the preference of the those with more wealth
k. People are not always rational/self-interested

i. People may be risk averse

ii. Pervasiveness of spite

iii. Offer/ask disparity

1. May be explained by personality theory

iv. Endowment effect

1. The more I have, the more I want

v. Fallacy of sunk costs

vi. Society shapes preferences

1. Model assumes that preferences are innate

2. Regulating here seems problematic since it is paternalistic
Externalities
9) Law is trying to correct market failures of externalities

a. Impediments to bargaining

b. Failure in the rational actor model

c. Transaction costs

d. Bilateral monopolies

10) Can arise when:

a. Present possessory interest and future interest

i. Law of waste

b. Concurrent landowners (Delfino)

i. Law of waste

ii. Partition and accounting

c. Neighbors of who don’t share an interest in the land

i. Courts get involved when there is an impediment to bargaining, such as failure in the rational actor model, transaction costs
11) Preference for private solutions/market to resolve the problems

a. Avoids the need for collective value judgments

b. Avoids the cost of arriving at collective value judgments and enforcement

c. Private bargaining is more flexible and account for changes

d. Private bargaining avoids the problem of rent seeking, i.e. interest groups using the regulatory process to get the profits of other property owners

12) What tool do you use if the problem is the under-provision of public goods (positive externalities, non-rival, non-excludable)?
i. Few things are pure public goods, but many things have at least some quantum of the properties of non-rivalness and non-excludability

b. Legal entitlements making the good excludable

i. Privatization of the public good

ii. Limiting access to ideas encourages innovation

iii. Ex. AP vs. INS
iv. Ex. Gramercy Park

c. Subsidize production, in which government acts at the pricing mechanism
i. Subsidies are just a means of forcing people to pay for the good.  

ii. Encourages a public good to be produced by private parties

iii. They can vary in terms of what part of the production is subsidized

1. Ex. Housing paneling or new technology for low cost housing or removal of lead paint

iv. They can also vary in terms of how the subsidy is provided

1. Ex. Tax credits, direct payments, accelerated depreciation

d. Make the government be the supplier

i. Ex. Sewers

ii. Ex. Government built housing

e. The government could also own and manage the collective good

i. Ex. Public housing

f. Government could order the production of the good

i. Notions of takings would be seriously offended by conscription of private resources for production

13) What if the market failure is the presence of negative externalities?

i. Assignment of legal rights is what makes the problem one of negative, not positive, externalities, (entitlements already assigned)

b. Structure the law in a way that provided neighbors with greater incentives to enforce their entitlements

i. Ex. private attorney general statutes

c. Command and control regulation

i. Ex. Building codes/Zoning regulation

1. Provides a standard that is a floor

ii. Do not need to be numerical standards, could be knowledge based
1. Ex. Best available technology

d. Performance based standards

i. Command and control regulations that specify the means or level by which one has to comply with a standard

ii. Ex. Build as you want, but maintain a certain percentage in sunlight

e. Financial penalties

i. Can go to the general treasury, a fund, or compensate the loser

ii. Common in land-use area as exactions/impact fees

1. Ex. Taxes for the amount of office space, emission fees
iii. Fines are penalties for violating the law, a tax is just a financial charge for your conduct

f. Government can subsidize for the reduction of the externality

g. Marketable pollution permits
i. Rather than specify an exact amount, we set an overall limit and give shares of that limit to the various parties

1. Ex. Transferable development rights

2. Ex. Mount Laurel low income housing

3. Ex. IFQ’s

ii. Permits only work in a limited number of circumstances

1. Performance is measurable

a. Government must be able to quantify a performance standard and measure an individual's attainment of that standard

2. Larger number of sources

a. Those conditions are necessary to support a market.  

b. Ex. TDRs are criticized in many instances as involving a market that is too thin

3. Significant variations among them in terms of the ability to achieve the goal

h. Deposit and return schemes

i. Ex. Soda

i. Screening mechanism

i. Screens about behavior that would lead to negative results

1. Ex. Land use zoning schemes
j. Combinations

14) How to choose a regulatory tool

a. Efficiency in achieving the goal
i. Generally prefer the market to centralized systems of planning
ii. Ex. Marketable pollution permits

1. Command and control ties to treat things in major categories, which ignores the ability of some to achieve the same goal cheaper and more efficiently then others

b. Cost of administering, enforcing, and policing

c. Information demands of the various regulatory scheme

i. The cost, accessibility, and manageability of the information needed to use a particular regulatory tool

ii. Ex. C&C will have higher information costs, because they will apply to a wide variety of circumstances and actors a long time
d. Certainty of the outcomes

i. Taxes/subsidies will naturally be less certain, while C&C and marketable permits provides a set limit, certain outcome

e. Susceptibility to change

i. Don’t want a system that is so flexible that someone new can come in and drastically change it and deny reliability

ii. Ex. Taxes and subsidies can be changed but it is costly and politically difficult, and need to be adjusted against inflation

f. Want flexibility in terms of players within the market

i. Ex. Marketable pollution permits are more flexible than C&C

g. Want geographic flexibility,but not so much that region is overly hurt/help

i. Can make it seem discriminatory or unfair

ii. Ex. Marketable pollution permit hotspots

h. Effect that the regulatory scheme will have on innovation (Boomer)

i. Command and control often uses “best available technology” (BAT), but once you have installed that technology, you have no incentive to develop more

ii. MPP not only allow such innovation, but provide incentives for companies to develop most profitable technology

i. How does it affect anti-competitive behavior

i. Firms can use the existence of a regulation to provide an entry barrier to new competition

ii. Command and control schemes often impose stricter standards on new entrants than on existing firms

1. Ex. Grandfathering in zoning laws

iii. Taxes, on the other hand, are more uniform in their application to new and existing industries, and aren’t as susceptible to such abuse

1. Ex. The already regulated may oppose new regulation because they have already figured out the scheme and thus, have an advantage over new competitors

j. Potential distortions
i. Which tool is least likely to skew aspects of people's behavior in ways we don't want or can't anticipate 

ii. Minimize the chance that the regulatory scheme is going to encourage rent seeking, efforts of interest groups to secure advantage in the regulatory process
1. Ex. Fisheries lobbying
iii. Want to minimize corruption
1. Schemes that involve significant administrative discretion are more susceptible to corruption. 
iv. Entry and exit into the market

1. Subsidization/tax breaks can encourage other non-traditional participants and create more pollution
2. Ex. Brownfields
k. Structured moral arguments

i. Whether regulations pose a threat to some fundamental principle of our constitutional scheme
1. Ex. Pollution permits codify the right to pollute as morally okay (Commodification) Been has a problem with this, since people could pollute before)
ii. Once you instituted marketable permits, you’ve given people property rights and the consequence is that it will constrain the government's future efforts to regulate.  
1. Ex. Ranchers
2. Ex. The water rights are now the subject of takings claims, and the water subsidy became a property right 

l. Effect on concentration of power

i. Ex. Public housing grants government power that it did not have before, i.e. marriage

m. Effect on freedom of choice

i. Ex. Housing vs. Vouchers
ii. A significant advantage of the voucher program is that it allows tenants to stay in their existing housing, as long as that housing meets minimum quality standards, and many tenants prefer not to move, ala the personality theory
n. Fairness and equity concerns

i. All similarly situated people treated a like
1. Ex. Vouchers are an indivisible unit, while subsidies can be divided among all, although shares can be too small
ii. How we do they correct existing inequities
1. 
2. Ex. Vouchers will do little good if the holder faces discrimination in the market
iii. Interregional equity
1. Ex. Controlling acid rain vs. nuclear waste
o. Transition problems

i. Ex. How to allocate the initial quota with permits

1. Best thing to do is use the market and auction off permits, but it is too politically unpalatable
15) How to pick a regulator

i. Factors by which to choose the jurisdiction that should be responsible for addressing the problem in our federalist system
b. Responsiveness and accountability
i. State or Federal government may be too large to respond sensitively to the needs and interests of a community

ii. Ex. Justification for giving local governments power over zoning
c. Ability to exit/competition among jurisdictions
i. Argument is often made that certain kinds of regulation have to be imposed at a federal level because if left to the state or local governments, competition among the states will result in a "race to the bottom"
ii. Redistributive regulations are best imposed at the national level

iii. Trashed by Revesz and will just lead to changes in different area

1. Ex. Town without Starbucks

d. Economies of scale
i. Certain kinds of regulation require enormous expenditures of resources, which can more efficiently be centralized

1. Ex. Setting toxic substance standards may require such expertise that you would not want every state to have to hire that expert and expend the resources to identify
e. Worry about free-rider problems
i. If we leave the housing problem to local governments, some will attempt to free ride on the efforts of others

1. Ex. All of the homeless move to one place
f. Locational specificity of market failure
i. If it is very location specific, it is best handled by local government

ii. Ex. There are huge variations in the housing market from town to town, so the policies required may differ

g. Worry about differences in citizen preferences
i. More variation in citizen preferences, makes a local decision for desirable
16) When faced confronted with a new issue that presents a problem or if we should propertize

a. If it’s a property who should own it

b. Think through justifications for regulating

c. Risks vs. benefits of regulation
d. Recommendation about whether or not we should regulate

e. If we regulate, how should we do it?

f. What are the implications of the regulation?
g. Who should regulate? State or Federal?
Takings
1) Summary

a. Is there property?

i. No property, no taking

b. Is there an applicable per se rule?

c. If not, what is the result of the Penn Station balancing?

i. Draw from the other cases

1) Generally
a. Fifth amendment says that the government shall not take property except for public use and upon payment of just compensation
b. The first step is usually filing a petition, followed by notice, followed by a trial at which the government must establish its authority to condemn.

c. If there is a jury trial, it is typically the jury that determines just compensation, issues of public use, and necessity are decided by the court.
d. At the conclusion of a successful condemnation action, the government must pay the compensation award plus interest, although attorney fees are generally not provided.
e. Takings clauses are a confrontation between protecting rights of individuals and the appropriate role for courts and legislatures
f. Takings law is all about the shift between rules and standards
i. Rules are bright-line
ii. Standards are open-ended & goal is provided, but not as directed
g. Repeat players don’t bring takings claims
2) Features

a. Converts individual entitlements to a liability rule against the government

b. Imposes a “public use” limit on the government

c. As well as requirement to pay just compensation

3) Types of taking

a. Government uses power of eminent domain

b. Government passes a regulation that goes too far and deserves compensation (Inverse condemnation), i.e. government regulated the property out of existence
4) Why do we allow the government to take?

a. Holdout problems

b. Personality interests/private rights will be trumped by the public good

c. Property comes from the government and thus, the government can impose conditions, aka “bitter with the sweet”
i. Natural rights theory rejects this

5) What are the limits to the government’s ability to trump property rule protection?
a. The public use

i. Public use provision was interpreted as being coterminous with police power (Berman)
1. Certain things that the government is rightfully involved in such as health, welfare, and morals of society
b. Increasingly government is using the takings power to take from one private owner and give to another (99 cent store/Wal-Mart)

c. Current Supreme Court case - Kehlo v. City of New London)
i. Mrs. Kehlo did not want to move and preferred to stand in the way of the redevelopment
ii. CT Supreme Court said pursuing economic developments was within the state’s police power, even if taking was given to a private party
iii. Concern about the discriminatory motivation of the taking
iv. Question about who should receive the gains from trade
1. Local government may be externalizing the cost

d. Any decision is inherently connected to the nature of Fed. system, issues of institutional competency, private and government market problems, and the appropriate boundary between public goods & private rights
6) Why do we require the government to pay?

a. Fear takings to be used as a form of discrimination and hope that paying may make discrimination less likely
i. Government action may highly targeted towards particularly beneficiary and not the public interest
b. Force the government to internalize the costs of its decision
i. Idea is that if you make the winners pay (Kaldor Hicks), the winners aren’t going to take unless take benefits society as a whole
1. Why does the government have to internalize the costs if it can’t capture the benefits
ii. Although this may be a fiscal illusion, since:
1. The government does not behave like the standard economic actor in others models, i.e. nuisance, because they are elected or appointed officials

2. The money may not come out of the city planning budget, but rather taxes and the public is unlikely to notice

3. Cost may be shifted onto group that is least likely to protest
4. Average reciprocity of advantage of multiple transactions, as it will wash out as a benefit in the end
5. Gov’t may not be able to negotiate around if its wrong
c. Political process failure theory

i. Afraid that government is too likely to take the property of politically powerless groups, who will never be at the bargaining table long enough to recoup their losses

ii. To judge, apply the “golden rule”
1. If the decision-maker was the loser, would they vote to give themselves compensation?

d. Basic fairness consideration of spreading cost to public of taking in the public interest
i. Don’t want government to compensate for negative externalities
e. Founders feared that largely property-less majority would take their property and redistribute to others

f. Property is the bulwark/civil liberty between individual citizens and the government.

g. Productivity concern

i. Concern with using takings clause as an insurance policy, as opposed to the private market

ii. Foreign investors have started to buy takings insurance

h. Moral hazard component

i. Taking will encourage riskier investments and possibly discourage public participation
7) Not ever government action is a taking, so do when pay compensation?

a. This issue naturally connects to why we allowed takings in the first place
Loretto v. Teleprompter Manhattan CATV Corp. (pg. 1117)
· New York law proves that a landlord must permit a cable television.
· In this case, the cable installation occupied portions of appellant’s roof and the side of her building, which was only .5 inch of diameter. Her compensation was only $1
1) A permanent physical occupation authorized by government is a taking without regard to the public interests that it may serve. (Per se)

a. Bright-line rule is intended to increase administrative efficiency and reward historical expectations
i. But constitutional rights shouldn’t turn on efficiency

b. To the extent that the government permanently occupies physical property, it destroys the rights to possess, use, and dispose of it.

c. If the prior owner had given them an easement and it had been recorded, then there would be no claim
d. Alternatively, temporary physical takings were subject to a balancing test
2) The rule may not be as bright-line as intended

a. What counts are physical?

b. What type of ownership was necessary?
Hadacheck v. Sebastian (pg. 1132)
· Plaintiff was convicted of a misdemeanor in violation of an ordinance of the City of LA, which makes it unlawful for any person to establish or operation a brickyard or brick kiln for the manufacture or burning of brick within described limits in the city.

1) If the government action in question is depicted as a nuisance-control measure, even if the activity is not a nuisance, then there is no taking notwithstanding the loss worked by the regulation.

a. The business could be regulated and regulation was not precluded because the value of investments made in the business prior to any legislative action will be greatly diminished

b. As opposed to Spur and “rule 4”, no public payment is required

2) This rule is also not as clear, because of the definition of harm

a. Who defines the harm?

i. Coase would say no one is harming with incompatible uses and it is a “fool’s errand”
ii. Judge vs. Legislature defined nuisances/takings

1. Scalia thought only older judges were trustworthy
b. How do we define and value the harm?
i. Ex. Florida citrus canker as a taking
Lucas v. South Carolina Coastal Council (pg. 1171) in 1992
· South Carolina began managing its coastal zone in 1977, when it enacted a Coastal Zone Management Act. The law required owners of coastal land in critical areas to obtain a permit for the SCCC prior to committing the land to a use other than the use the critical area was devoted to.

· In 1986, Lucas paid for two residential lots on an island doff the coast of South Carolina. He intended to build single-family houses on the lots, and because no parts of the areas were critical areas, he did not need a permit.

· His plans to build were halted by the new legislation, the Beachfront Management Act.

1) When the owner of real property has been called upon to sacrifice all economically beneficial uses in the name of the common good, that is to leave his property economically idle, he has suffered a taking, except when the action merely codifies a limitation inherent in the owner’s title.

a. Where there is a 100% wipeout it is just like a physical taking and the per se rule applies
i. Courts have been reluctant to find
ii. The rule will not limit the government too much, because it is rare that there will be a 100% wipeout

iii. When taking 100% of property it is hard to indulge in presumption that property owning is gaining in other ways and that there is an average reciprocity of advantage
1. Whether person gets average reciprocity of advantage and is more open to abuse depends on generality of the law

b. If there’s a 100% diminution in value, government can’t regulate without paying compensation, unless regulation is simply codifying an already existing limitation in title
i. Touchstone should then be common law nuisance

1. However, we looked to common law nuisance is highly value laden and depends on time and is money sensitive
2. May have been under-protective so as to avoid imposing injunctions
3. May not be suited for modern environmental problems
4. May not be more in line with expectation/accountability
5. Unclear whether it is pubic or private
6. Common law judges may not be any better then legislatures
a. Elected vs. Appointed

b. Accountability

c. Diversity

d. Potential capture
ii. What does it mean to have an inherent limitation on title?
1. It can’t possibly be that any regulation in place at the time of buying is an inherent limitation. Otherwise, the government would have too much leeway.
2. It also may not be a limitation when you pay less for the property knowing you can’t do something on it. (Notice)
c. To determine a total taking, based on a nuisance (Scalia)
i. Degree of harm to public land/resources or adjacent private property proposed by claimants proposed activities

ii. Social value of the claimant’s activities and the suitability to the locality in question

iii. Relative ease by which the alleged harm can be avoided through measures taken by the claimant and the government

iv. Longstanding use by similarly situated owners

v. Allowing similarly-situated owners to continue that use
2) This rule is also not a clear, because it depends on how we define the denominator
a. Property and can divided and defined differently (Buddle of sticks)
i. Horizontal (like a map)

ii. Vertical (surface/subsurface rights)
iii. Usage rights (functional)
iv. Temporal rights
1. The more narrowly defined, the more 100% wipeouts
b. The 100% diminution in value is not appropriate for all situations
i. Ex. Denied building a nuclear reactor in Union Square
3) Case signals a stricter standard of review about the level of deference courts are giving to legislative bodies

a. Court is more suspicious of the legislature then usual

i. Ex. Beach property vs. hurricane damage

b. Court will scrutinize legislature’s justification for regulations with greater attention and not just use a rational basis review

c. Court has hinted owners of real property who claim they are treated differently will get more respect then welfare recipients
i. Scalia sees real property differently from personal property, even though people’s assets are now in person property

Palazzolo v. Rhode Island (pg. 1193)
· Palazzolo owns a waterfront parcel of land in the town of Westerly, Rhode Island and almost all of the property is designated as coastal wetlands under RI law.

· After petitioner’s development proposals were rejected by RI Coastal Resources Management Council, he sued in state court asserting that the regulations constituted takings.

1) It can’t be an automatic rule that anything in place at the time of sale cannot be challenged (not an absolute bar)

a. The exact role of notice is left undefined by the court
b. Future generations, too, have a right to challenge unreasonable limitations on the use and value of the land.
2) If local government passes zoning regulation that denies use of property and court finds taking, government can continue regulation and buy property in fee simple absolute or buy an easement, i.e. taking title to the rights, I want to keep the owner from exercising

a. Alternative choice is rescinding the regulation or not applying it to the land. But the property owner had suffered temporary damages during the interim period and the government will have to pay compensation (temporary takings)
b. Government should not benefit from the court rescuing them from what would otherwise be a permanent taking, as opposed to only a 2-year taking designed to be that way from the beginning
Pennsylvania Coal Co. v. Mahon (pg. 1140)
1) When a government regulation of a use that is not a nuisance works too great a burden on property owners, it cannot go forth without compensation. (Diminution-in-value)
a. Commercial impracticability was sufficient for a taking

b. Some values are enjoyed under an implied limitation and must yield to police power, but the implied limitation must have its limits or the contract and due process clauses are gone.

c. The greatest weight is given to the judgment of the legislature.
d. Dissent argues that the defendant has failed to adduce any evidence from which it appears that to restrict its mining operations was an unreasonable exercise of the police power.

e. In contrast in Keystone, the court held that the statute did not work a taking, despite similarities to the Kohler Act
Penn Central Transportation Co. v. City of New York (pg. 1151) – “Vast middle”

· Large numbers of historic structures, landmarks, and areas have been destroyed without adequate consideration of either the values represented therein or the possibility of preserving the destroyed properties.

· NYC adopted its Landmarks Preservation Law in 1965, which imposes a duty upom the owner to keep the exterior features of the building in good repair and the Commission must approve in advance any proposal to alter the exterior architectural features of the landmark or to construct any exterior improvement on the landmark site.

· In the event an owner wishes to alter, he may apply to the Commission for a certificate of no effect on protected architectural features, the owner may apply to the Commission for a certificate of appropriateness, or seek a certificate of appropriateness on the ground of insufficient return.

· A 1968 ordinance gave the owners of landmark sites additional opportunities to transfer development rights to other parcels.

· Appellant did not oppose the designation, but it entered into a 50-year lease with UGP to construct a multistory office building above the Terminal.
1) In deciding whether a particular governmental actions has effected a taking, this Court focuses rather both on the character of the action and on the nature and extent of the interference with rights in the parcel as a whole.
a. Court always repeats Armstrong language about whether or not the government is forcing a few to bear a society wide burden (fairness)
i. Disproportionate impact on one party or group
b. The economic impact of regulation focuses on the denominator issue and how the property is defined
i. Denominator as whole for the train station and trains could still run

ii. Property can be the physical unit most effect by the taking

iii. Can either focus on the physical property, i.e. the land, the coal in PA Coal & Keystone or the air space in Penn Central, or we can look at the bundle of rights regarding that physical property as a separate property interest or estate, i.e. support estate in PA Coal
iv. With physical property, we have to decide whether we look at the tons of coal that must be left in place, or whether we look at all the coal in the mine, or all the coal owned by the plaintiff

v. With estates or bundle of rights that make up the property interest, we must decide whether we look at the estate as the market has defined it, the deed itself, or at least Pa law, defined the interest as the support estate, or whether we look at the estate as part of all similar estates the plaintiff owns

vi. We must decide whether the right to mine the coal or the right to develop the air space, standing alone, is the relevant unit or whether all the sticks/rights, are the appropriate unit.
vii. If we define the property as the physical unit whose use is most directly restricted by the regulation, regulation will always be held to effect a taking
viii. Another problem is when we move toward zoning regulations, i.e. setback regulations

ix. Another problem is reconciling regulatory with physical takings.

x. Another problem is that a physical definition encourage smaller dividing of the physical property

xi. Another problem is that broad definition, i.e. all the coal a company ownes, imposes a deep pocket theory of takings.
xii. On the other hand, the bundle theory encourages the creation of separate estates.

xiii. Another problem is the high administrative costs/lawyer costs   
xiv. Test options

1. All contiguous physical property held by a common owner

2. Balancing test-Degree of contiguity, dates of acquisition, extent to which parcel has been treated as a single unit by owner (e.g., separate deeds, separate mortgages, separate tax levies, separate infrastructure, separate prior plans), extent to which the protected lands enhance the value of the remaining lands
c. Court is also thinking about the reasonableness of the return on the property given the risk of the investment and relevant notice (Distinct Investment Backed Expectations – DIBE)
i. Issues becomes whether  to examine the rate over a few years, life of the property, or other temporal limitation
ii. In Tahoe-Sierra, dealing with a two-year moratorium and court said property was defined over time and two years is a limited amount of time and general ownership in area was 20 years.
iii. Issue about whether you actually have to invest is unclear, although it is hard to say there should be a different rule, but there could be a distinction for gifts/inheritance
iv. What about changing uses b/c past use is now unprofitable
d. Character of the government interest
i. Originally meant to cover physical invasion

ii. Now courts use character of invasion as proxy for strength of government’s interest or as a proxy for weakness of landowner’s arguments
iii. If landowner desired use of property is nuisance-like, they will get little protection vs. strength of gov’t health and safety interest
iv. The Court has upheld land-use regulations that destroyed or adversely affected recognized real property interests, when health, safety, morals, or general welfare could be promoted.
v. Whether it arises from the entrepreneurial operations of the city
e. Average Reciprocity of Advantage
i. Ex. Tahoe-Sierra and increased land value
ii. In dissent, Rehnquist would have held that unless gov’t is prohibiting a nuisance, a regulation that causes economic injury is invalid unless it secures an "average reciprocity of advantage."  
f. The role of transferable development rights

i. Do they serve to mitigate or compensate?

ii. Majority

1. Factor in availability of TDR’s as part of the determination as to whether there is a taking

iii. Counter

1. Don’t use TDR’s to determine a taking, but instead they are a viable alternative to providing compensation when there is a taking, because the gov’t could always give just enough

2. Using them as part of the taking calculation, you end up completely altering the definition and the financial calculation
a. What about tax abatements

b. What about intentional low-zoning
3. If a given regulation without TDR’s would be a taking, but the same regulation with TDR’s would not be taking is a roundabout way of saying that TDR’s do in fact amount to just compensation.
